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UGC NET PAPER 2 NOVEMBER 21, 2021 SHIFT 2 PHYSICAL EDUCATION QUESTION PAPER

Topic:- 47PhyEDU_A

1) The phrase “Immediate mundane aims” as practical idea belong to which philosophy?
(1) Existentialism (2) Metaphysics

(3) Idealism (4) Pragmatism

ferm zef & argam “sre= w2 R yfF = s foam & e b gEn?

(1) wfdgeasrE @  wdifas
(3) wesfar 4 IEEE
[Question ID = 4377][Question Description = Q01_PhyEDU_SHAAN_21NOV_51_Shift2]
1.1
[Option ID = 16971]
2. 2
[Option ID = 16972]
3.3

[Option ID = 16973)
4, 4

[Option ID = 16974]

2) Who received the “Olympic gold order” in 1983
(1) Indira Gandhi (2) Ashwani Kumar
(3) V.C. Shukla (4) Yijay Kumar Malhotra

1983 1 *‘sttcifues Miee & fes wred fra?

(1) sfRuTH 2  svafi gan
(@ i g (@ faom Faruegen

[Question ID = 4378][Question Description = Q02_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 16975]
Z.2

[Option ID = 16976]
i

[Option ID = 16977]
4, 4

[Option ID = 16978]

3) When the national sports policy came into existence?

(1) 1986 (2) 1992
(3) 2001 (4) 1984
i Qeteha oiTerddt el Yom oI ss T ¢
1) 1986 @ 1992
3) 2001 (4) 1984

[Question ID = 4379][Question Description = Q03_PhyEDU_SHAAN_21NOV_S$1_Shift2]
1.1

[Option ID = 16979]
.2
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[Option 1D = 16980]
£

[Option ID = 16981]
4, 4

[Option ID = 16982]

4) In which following city, the Commonwealth Games were held twice?

(1) Delhi (2) Gold cost
(3) Glasgow (4) Edinburgh
Frafafga © @ e 7 | T dsa T B I 5 9’ 237 7
(1 feeeh @) s Fie
(3) T T (4 T

[Question ID = 4380][Question Description = Q04_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 16983]
2. 2

[Option ID = 16984)]
3.3

[Option ID = 16985]
4, 4

[Option 1D = 16986]

%) Many athletes using diuretics as an ergogenic aid but diuretics
(1) Increases fat free mass

(2) Increasing urine production and excretion

(3) Decreasing urine production

(4) Increases body weight and fat mass

w5 § Taedl SEieam 1 e e TS % T H W 3 T SIEITH % e W F B 27
(1) I9 990 559H 56 ST

(2) A SRR AR T 5 S 2l

(8) T I FH B AWM 2

(4)  IER W1 97 3R @ 259 ag T 2

[Question ID = 4381][Question Description = Q05_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 16987]
2. 2

[Option ID = 16988)
3.3

[Option ID = 16989]
4, 4

[Option ID = 16990]

6) Stroke volume increases proportionately with increasing exercise intensity but usually achieves its maximal value at
about

(1) 30% - 40% of VO; max (2) 50% - 60% of VO; max
(3) 70% to 80% of VO; max (4) 80% to 90% of VO; max

LT A B G5 B UG A W2k dlegH Sgdl & g YHEEE: T8 S AHEds dog q e e
T 0T 2 7

(1) VO, max H 30% — 40% (2) VO, max Bl 50% — 60%

(3) VO, max B 70% — 80% (4) VO, max B 80% — 90%

[Question ID = 4382][Question Description = Q06_PhyEDU_SHAAN_21NOV_S$1_Shift2]
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[ 1.1

[Option ID = 16991]
1)

[Option ID = 16992]
3.3

[Option ID = 16993]
4, 4

[Option ID = 16994]

7) Women can experience major increases in strength as a result of resistance training and gains in strength may be
attributed more to

(1) Hormonal factor (2) Neural factor

(3) More Muscle mass (4) More fat mass

ufetiy wfeor o afomaeasy afeend o smar 1 wig1 gedt € 921 aua sl = § 3 frass o g
27

(1) B T FR (2)  dBE O e
(3)  HAaius Il g599HA (4) A U THA

[Question ID = 4383][Question Description = QO07_PhyEDU_SHAAN_21NQVY_51_Shift2]
1. 1

[Option ID = 16995]
.00

[Option ID = 16996]
3.3

[Option ID = 16997]
4. 4

[Option ID = 16998]

8) Of the following, which one is responsible for maintaining homeostasis by regulating almost all processes that affect the
body’s internal environment

(1) Hypothalamus (2) Thalamus
(3) Cerebellum (4) Cerebrum

FifTR e =i s wn % fore, 93 ot 39 el wiwne wt Rt s go st & ok & siafe e
T X 7, 30 forg Frferfiaa of @ 9 seerfi 27

(1) BEIEEEY (2 ooy
(3) ufsfRm (4) ufm

[Question ID = 4384][Question Description = Q08_PhyEDU_SHAAN_21NQVY_51_Shift2]
1.1

[Option ID = 16999]
2. 2

[Option ID = 17000]
3.3

[Option 1D = 17001]
4. 4

[Option ID = 17002]

9 Pinen .
) If P = force needed fo overcome the friction and W= force holding the surface, then the

coefficient of friction x (mu) will be

P 14
®  p= @ p=%
() u=WxP 4) pu=W+P

Ife P = =01 = w1 & T sl 9t 2 3 W= 5ag 1 Shed are 9 2 @ 990 4 (mu) IS
T
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P W
(D H=t (2) HeEs
(3) u=WxP 4) u=W+P

[Question ID = 4385][Question Description = Q09_PhyEDU_SHAAN_21NOV_51_Shift2]

1. 1 [Option 1D = 17003]
2. 2 [Option ID = 17004]
3. 3 [Option ID = 17005]
4. 4 [Option ID = 17006]
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10) Which of following is not correct when body comes in push-up dip-position (Flexion of elbow) from normal position?

(1) Shoulder joing Horizontal abduction
(2) Wrists Reduction of hyperextension (flexion)
(3) Shoulder Girdle Adbuction

(4) Hips flexors in static contraction

Frafafied 3 @ 0 @ Fu3 W@ T8 § S S A feafa | gu-otg fen et (i o oth=m) 4 s

27

(1) F9E O - e vaERr

(2) ey — 3Acafirn foedit (sirepad ) | shedt
(3) LIRS —> TaSHH

) Fam - g g sngm

[Question ID = 4386][Question Description = Q10_PhyEDU_SHAAN_21NOV_51_Shift2]

1. 1

[Option ID = 17007]
2, 2

[Option ID = 17008]
3.3

[Option 1D = 17009]
4, 4

[Option ID = 17010]

11) How much force is needed to accelerate a 300 N object 2 m/s??

(1) 150N (2)  30.61N
(3)  61.22N (4)  15.31N
300 N 9% %1 2 m/s? 7ifd 49 % Tere foram a1t eomma ) SATavasha 21 27
1) 150N (2 380.61N
(3) 61.22 N 1) 1531 N

[Question ID = 4387][Question Description = Q11_PhyEDU_SHAAN_21NOV_51_Shift2]

1.1

[Option ID = 17011]
7.2

[Option ID = 17012]
3.3

[Option ID = 17013]
4, 4

[Option ID = 17014]

12) Which of the following muscle is not a primary respiratory muscle?
(1) Diaphragm (2) Transversus thoracis

(3) Levatores costorum (4) Erector spinal
frrferfga © @ -t wigdsh mahes e qraaeh 98 27

(1) SEFEH (2) ZHeuy gy
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(3) A FRIEA (4) HAFET TIETA
[Question ID = 4388][Question Description = Q12_PhyEDU_SHAAN_21NOV_51_Shift2]
|
[Option ID = 17015]
2i 2
[Option ID = 17016]
3.3

[Option ID = 17017]
4, 4

[Option ID = 17018]

13) Which type of imagery should be used to reduce athletes anxiety prior to a competition?
(1) Cognitive specific imagery (2) Motivational specific imagery

(3) Motivational general imagery (4) Motivational general arousal

gt @ gd faard & w2 #1999 %6 & o S v o fe s e foran s =nfee?

(1)  wrffla wafathes e (2)  Hifewas wfglhs e
(8) wifea—a s fom (4)  HPIIEA FE SOSTA

[Question ID = 4389][Question Description = Q13_PhyEDU_SHAAN_21NOV_51_Shift2]
J

[Option ID = 17019]
2. 2

[Option 1D = 17020]
3.3

[Option ID = 17021]
4, 4

[Option ID = 17022]

14) Which type of goal depends not only on your own efforts but also on the ability and play of your opponent?
(1) Qutcome goal (2) Performance goal

(3) Process goal (4) Short term goal

fra yor 1 M haa oarash yare Wl S s efag st fadiell A1 drmm ot ww w faf

ExG kAt

(1)  SHEA M @  yeH A
@) e Ta (4) I

[Question ID = 4390][Question Description = Q14_PhyEDU_SHAAN_21NQVY_51_Shift2]
1. 1

[Option ID = 17023]
2. 2

[Option ID = 17024]
3.3

[Option ID = 17025]
4. 4

[Option ID = 17026]

15) The most basic level of your personality is called as
(1) The typical responses (2) Personality trait
(3) The Role related bahaviour (4) The psychological core

HATIeF Sfaded o Tadl YeTsId WL FI Fa Sl 27

(1) =9 ufafFm (2) Aiqaca favess (S8
(3 i gefta =reEr (4) TR U
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[Question ID = 4391][Question Description = Q15_PhyEDU_SHAAN_21NQVY_51_Shift2]
1. 1

[Option ID = 17027]
B3

[Option ID = 17028]
3.3

[Option ID = 17029]
4, 4

[Option ID = 17030]

16) The social facilitation theory was formulated by

(1)  Zajonc (2)  Jerry Reynolds
(3)  Hoffman (4)  Norman Triplett
qraTtSe: glaen frsTa fraes g s e
1) wH @ e
(3) T (4)  AUF e

[Question ID = 4392][Question Description = Q16_PhyEDU_SHAAN_21NOV_S$1_Shift2]
j sy

[Option ID = 17031]
2. 2

[Option ID = 17032]
Al

[Option ID = 17033]
4, 4

[Option ID = 17034]

17) Which type of feedback is more effective for facilitating skill performance?
(1) Informative feedback (2) Positive feedback

(3) Corrective feedback (4) Negative feedback
T YagiH i G T o fora form warm it wfagfes (Frasen) arferes swom 3 27

(1) g Bress (2) HHEHT Fledh
(3)  HUeHE e (4  THEUE HIgd

[Question ID = 4393][Question Description = Q17_PhyEDU_SHAAN_21NOV_51_Shift2]
1. 1

[Option ID = 17035]
2. 2

[Option ID = 17036]
3 3

[Option ID = 17037]
4. 4

[Option ID = 17038)]

18) Which is an advisory body for the central and State Governments on teacher education in India?
(1) UGC (2) ICMR
(3) NCTE (4) NCERT

A W HG UOPR S U9 TOFR Bq ALAITE e 5 959 A GelEpR e BT 27

(1) 70 (2) ..U .
(3) THLAL @) voamHdAl
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[Question ID = 4394][Question Description = Q18_PhyEDU_SHAAN_21NOV_51_Shift2]
14

[Option ID = 17039]
2. 2

[Option ID = 17040]
3 3

[Option ID = 17041]
4. 4

[Option ID = 17042]

19) In the National Sports talent search scheme acronym PESAT stands for
(1) Physical, Efficiency, Sports, Aptitude, Tests

(2) Performance, Excellence, Sports, Attitude, Training

(3) Physical, Education, Sports, Attitude, Time

(4) Physical, Efficiency, Sports, Aptitude, Training

W Gerge wtawn @i AT 3 gitelf asg PESAT forass fore smmar 272
(1)  TeRrma STHTH, e, T2egs o

(2) wETE, FRicE, WeE ey, T

8 Tofrra, wem, widE, vwiegs, o

@ T, srled, @, wigs, gFm

[Question ID = 4395][Question Description = Q19_PhyEDU_SHAAN_21NOV_51_Shift2]
1. 1

[Option ID = 17043]
2. 2

[Option ID = 17044]
3 3

[Option ID = 17045]
4. 4

[Option ID = 17046]

20) Which one of the following activity is not an open skill practice?

(N Yolleyball spike (2) Free-throw in Basketball

(3) Catching a throw ball (4) Tennis ground strokes

Frfafaa 1 8 sw-H niafaia gan e s & 27

() e wEE (@)  arERaE i gad ¥ 8 He

(3) W TE IR H TFSAI @ FEIEewEw

[Question ID = 4396][Question Description = Q20_PhyEDU_SHAAN_21NOV_S1_Shift2]

1.1

[Option ID = 17047]
1)

[Option ID = 17048]
3.3

[Option ID = 17049]
4, 4

[Option 1D = 17050]

21) Mostly CNS affecting viral disease is :
(1) Leprosy (2) Small Pox
(3) Rabies (4) Covid-19

S 1B G orordee e Bees B ek 1102 (o e i B £ B | R e o e o e o £

e

(1) = U (2) i
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[Question ID = 4397][Question Description = Q21_PhyEDU_SHAAN_21NOV_S1_Shift2]
g st

[Option ID = 17051]
7.2

[Option ID = 17052]
3. 3

[Option ID = 17053]
4, 4

[Option ID = 17054]

22) Identify the symptom of disorder ‘Hypervitaminosis’ caused by excess Yitamin C as nutrient:
(1) Gastrointestinal disturbance

(2) Deposition of calcium in soft tissues

(3) Stone formation in urinary tract

(4) Nervous system depressed
fersty wrn 3 foarfim C 3 s 3F Il Teaastsrmiadfima’ sfimd & a1ea i gge=m i)

(1) TREEERETE e
(2)  FIUA Iae ¥ Shatyem 1 Fegy

(3) A (P00 ) U gerl s

(4) i T H AR B
[Question ID = 4398][Question Description = Q22_PhyEDU_SHAAN_21NOV_51_Shift2]
1. 1

[Option ID = 17055]
2. 2

[Option ID = 17056]
3.3

[Option ID = 17057]
4, 4

[Option ID = 17058]

23) Which of the following is not passive immunity?

(1) Humoral immunity (2) Normal human Ig

(3) Specific human Ig (4) Animal antitoxins or antisera
frefoafias 44 s -t fftra wfwios aom 28 37
(1) v vfaes g (2) | Al e
(8) Tafme ufc=ek awan @ 9y CRIRE I R

[Question ID = 4399][Question Description = Q23_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17059]
2. 2

[Option ID = 17060]
T

[Option ID = 17061]
4, 4

[Option ID = 17062]

24) Which of the water pollutant is a source of water borne diseases like cholera?
(1) Animal waste {2) Fertilizers

(3) Sewage (4) Mercury

Terferiiaa A9 shm o Stet wguen S St St sl < i g 87
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(1) oy i (2) I
(3) TEIuT (4 U

[Question ID = 4400][Question Description = Q24_PhyEDU_SHAAN_21NOV_S$1_Shift2]
1. 1

[Option ID = 17063]
2.3

[Option ID = 17064]
LN

[Option ID = 17065]
4, 4

[Option ID = 17066]

25) Identify the appropriate intensity zone for strength training of an althlete :
(1) Sub-Maximal - 50-70% of maximum

(2) Low - 50-60% of maximum

(3) Medium - 70-80% of maximum

(4) Maximum - 80-90% of maximum

Torelt veledie Rt wifed % = Tote W Te- §iF o6l T59H 1

()  ga-Hadms-aritesag =0 50 — 70%
(2) =A fusanF 50 — 60%
(3) Ao -ATHFIH F1 70 — 80%
(@)  Fftran s1iteam 1 80 — 90%
[Question ID = 4401][Question Description = Q25_PhyEDU_SHAAN_21NOV_S1_Shift2]

1. 1

[Option ID = 17067]
2. 2

[Option ID = 17068]
T

[Option ID = 17069]
4, 4

[Option ID = 17070]

26) The factor which is not considered as determining the endurance ability

(1) Aerobic capacity (2) Phosphogen store
(3) Technical perfection (4) Tactical ability
S ek T g = fauien 7w s e, 9w
(1) e aa (2)  HIABSH ®R
(8)  deTehl guidl (4)  HifFees nfafafy

[Question ID = 4402][Question Description = Q26_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17071]
7.2

[Option ID = 17072]
3. 3

[Option ID = 17073]
4, 4

[Option ID = 17074]

27) Which of the following is concerned with shoulder width?
(1) Bicondylar diameter

(2) Bicristal diameter
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(3) Biacromial diameter

(4) Bitrochantric diameter
Frafefam 18 sR-a1%d & SeR 4 g9th 37
(1) FRFEEASERA (s94)
(2) Il TEle (sa)
(3)  RuRIfTS SrEHiet (594)
@ IR SEHe (Tm)

[Question ID = 4403][Question Description = Q27_PhyEDU_SHAAN_21NOV_51_Shift2]
1. 1

[Option ID = 17075]
2. 2

[Option ID = 17076]
3 3

[Option ID = 17077]
4. 4

[Option ID = 17078)]

28) The highest level of intrinsic motivation is known as
(1) Flow (2) Peaking
(3) Self confidence (4) Mastry

3TTafter ST & Foad T ) 991 HEl 127

(1) Y9 (2) WS
(3) e favamm (4) uifsm

[Question ID = 4404][Question Description = Q28_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17079]
Z. 2

[Option ID = 17080]
353

[Option ID = 17081]
4, 4

[Option ID = 17082]

29) In least significant differenece (LSD) test the critical difference (CD) is caleulated by
Ay D=ty lerrordl) \/Q(MSS}EW (@)  OD =ty (error d.f) \! 4 (MSS)W
6 (M SS)emr 8 (MSS)emr

(3) CD =1{yp5 (errord.f) ‘/ (4) CD =t5 45 (error d.f.) .J

wire Uil fewia 2= (o um €)) A Ghlera fewim (wa vy €) H e Fafafas + g A
ST 2|

M3S MSS
(1) €D =14 (TW d.L) ’ (2) €D =154 (TR AL) )
n n
6 (MSS
(8)  CD =ty (WAL Joo = @) 0D =14 (T AL) IO =
n mn

[Question ID = 4405][Question Description = Q29_PhyEDU_SHAAN_21NOV_S$1_Shift2]
1 [Option ID = 17083]

2. 2 [Option ID = 17084]

3. 3 [Option ID = 17085]

4. 4 [Option ID = 17086]

30) Which of the following is not correct about quota sampling?
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(1) It is non-probability sample
(2) It is subjective
(3) It is based on the experiance of researcher

(4) It is objective
il Hufem o ai | = frfad 3 W o[ 9 e[ O T8 87

(1) T2 W-gar=a Oiaes 2|

@ TesfFE-ung 2)

(3) TR AU & AT I INATE T 2|
(4 Al = 2

[Question ID = 4406][Question Description = Q30_PhyEDU_SHAAN_21NQVY_51_Shift2]
1.

[Option ID = 17087]
2. 2

[Option ID = 17088]
3.3

[Option ID = 17089]
4. 4

[Option ID = 17090]

31) If mean of the experimental group is 15, mean of control group is 12 and standard deviation of the control group is 5
then the effect size (A) will be

(1) 5.4 (2)  0.60
(3) 1.2 (4) 0.40

¢ WA WYE 3 Id 15 7| Fes agg o 3ig 12 8 o e ang o wees E=er 5 2 9 s0ae e
() 7l

(1) 5.4 @  0.60
3 1.2 49 0.40

[Question ID = 4407][Question Description = Q31_PhyEDU_SHAAN_21NOV_51_Shift2]
1. 1

[Option ID = 17091]
2. 2

[Option ID = 17092]
3.3

[Option ID = 17093]
4, 4

[Option ID = 17094]

32) If r-represent the correlation coefficient between age and weight and N is the number of subjects. The calculated
value of r = 0.510 and N = 15. The table value of r under column 0.05 is 0.514 and 0.01 is 0.561 for N - 2(=13)df. Then
which of the following will be correct?

(1) There is a siginificant correlation between age and weight at 0,01 level
(2) There is a significant correlation between age and weight at 0.05 level
(3) There is no significant correlation between age and weight

(4) Null hypothesis is rejected

af2 v 317 3R T % offw weHEy e o1 vfafficg w2 ot Neen 31 r %1 uitsfea 353 = 0.510 3l
N=15 21 &Te™ 0.05 3 N—-2(=13)df % foru r =1 wefl genn 0,514 2 31 0.01 1 0,561 7| wf foufa o
fafrfia 19 FR-m w9 A 87

(1)  0.01 T R 1Y TN ISH & 19 IeciE-a weway 3
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(2)  0.05 W Y g F9F % i IeciEg T HgEed Bl
(3) 3Ty 3R M F ofi IeoreH T WEHeEd B
(4)  rar aftemean o st w o a2

[Question ID = 4408][Question Description = Q32_PhyEDU_SHAAN_21NOV_51_Shift2]
1.1

[Option ID = 17095]
2. 2

[Option ID = 17096]
2

[Option ID = 17097]
4, 4

[Option ID = 17098]

33) If r=0.65, then the reliability of the whole test using Spearman Brown prophecy formula

will be :
(1) 0.781 (2) 0.778
(3) 0.798 (4) 0.788

afe r=0.65 5 T TR ST WHH g 1 TR Fa 5o wwa wdisror o) favaefiam fead @A

(1) 0.781 2 0.778

(3) 0.798 (4) 0.788

[Question ID = 4409][Question Description = Q33_PhyEDU_SHAAN_21NOV_51_Shift2]
1. 1 [Option ID = 17099]
2. 2 [Optien ID = 17100]
3. 3 [Optien ID = 17101]
4. 4 [Option ID = 17102]

34) Which is not an item of Poole Badminton test?

(1) Forehand clear test (2) Smash test

(3) Backhand clear test (4) Long serve test
T stefiren wliaro 1§ = e 92 S 2 ¢
(1) ERES FARFhem (2 iy ol
(3)  siohae Felfi udizm (4) & gd gheo

[Question ID = 4410][Question Description = Q34_PhyEDU_SHAAN_21NQVY_51_Shift2]
1. 1

[Option ID = 17103]
2. 2

[Option ID = 17104]
3.3

[Option ID = 17105]
4, 4

[Option ID = 17106]

35) A subject completed the exercise period of 5 minutes in harvard step test, His recovery period pulse count were : 75
for 1-1 ¥2 minutes, 50 for 2-2% minutes and 35 for 3-3% minutes. Physical Efficiency Index (PEl) of the subject for long
form of the harvard step test will be :

(1) 94 (2) 95
3y 93 (4 84

TrEE WY % 1 &Y safFd #atd waf i 5 e 4 g e 31 39l g9 mik srafy (fepad difas) rd
WEA (Tl 1) 1-1% faae A 75, 2-2% A2 W 50 31 3-3% fiFe 4 35 Wi gde =Y 3= & & FH &
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form =afa = srifeer qaaq geie (PED g 20t

1) ©4 (2) 95

3 93 (4) 34

[Question ID = 4411][Question Description = Q35_PhyEDU_SHAAN_21NOVY_51_Shift2]
1. 1

[Option ID = 17107]
Pl

[Option ID = 17108]
3.3

[Option ID = 17109]
4. 4

[Option ID = 17110]

36) Which is not an item of SAl badminton skill test?
(1) Badminton Shuttle Run

(2) Standing Backward Jump

(3) Standing Broad Jump

(4) Tennis Ball Throw

UH.U, A6, el e adeor § Fn wiis 15 87

(1) defmwa @ (2) LrEn dFare 99
(3) Efen ie W (4) meiaea

[Question ID = 4412][Question Description = Q36_PhyEDU_SHAAN_21NOV_51_Shift2]
j it

[Option ID = 17111]
7.2

[Option ID = 17112]
3.3

[Option ID = 17113]
4, 4

[Option ID = 17114]

37) Petty cash is synonymous to which of the following funds?

(1) Discretionary funds (2) Contingency funds
(3) Revolving funds (4) Sinking funds
gau e, Fefefiad o i s i 27
(1) Tad= snanfa A (2 sefE AR
(3) Gaom g (4) oA Ff

[Question ID = 4413][Question Description = Q37_PhyEDU_SHAAN_21NOV_51_Shift2]
1. 1

[Option ID = 17115]
3.7

[Option ID = 17116]
3.3

[Option ID = 17117]
4, 4

[Option ID = 17118]

38) Which type of administration is alse known as ‘paternalistic’?
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(1 Laissez-faire (2) Ecletic

(3) Autocratic (4) Anarchic
T2r8 IaRT ok 9T o TaqeTTaTdl’ & %9 o o ST e 27

1) FER W @ Il
(3) omrERw (4 I

[Question ID = 4414][Question Description = Q38_PhyEDU_SHAAN_21NQVY_51_Shift2]
1. 1

[Option ID = 17119]
2.2

[Option ID = 17120]
3 3

[Option ID = 17121]
4. 4

[Option ID = 17122)]

39) Who developed the scientific management theory?
(1) Elton Mayo

(2) Max Weber

(3) F.W. Taylor

(4) Henary Fayol

foreR STi-ren wei A TagTa = Taera feman?
(1) UeFRAIE

(2) g EEt

(3) UH T I

(4) T e

[Question ID = 4415][Question Description = Q39_PhyEDU_SHAAN_21NOV_51_Shift2]
1.1

[Option ID = 17123]
Eoid

[Option ID = 17124]
3 3

[Option ID = 17125]
4. 4

[Option ID = 17126]

40) What will the total number of matches, if in a league cum knockout tournament of 16 teams which initially played in 4
groups of four, where all teams in a given group play league matches? Top two teams from each group qualify for knockout
stage and losing semi-finalist also play to decide for 3rd and 4th place

(1) 32
(2) 31
(3) 30
(4) 33

I[F YF 0 IR 4 9UE § o Al 16 i o e dgAreense Zame, ot wft S ugg o ofin 9 werdt 2
a1 =l A et e fopat 2Ffi 7 e wg @ 2 sfder A Treetrse RS % fore garferens s @ of 3di-
HIgAEA 1 FR ST Fe ot e o e wam o Fofa s % o wed 2

(1) 32

@ 31

(3 30
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(4) 33

[Question ID = 4416][Question Description = Q40_PhyEDU_SHAAN_21NOV_51_Shift2]
s U5 |

[Option ID = 17127]
3ol

[Option ID = 17128)]
2

[Option ID = 17129]
4. 4

[Option ID = 17130]
41) In Greece mythology of Ancient Olympics, which relationship of God zeus with Hera is correct?

(A) Wife

(B) Sister

(C) Daughter

(D) Newphew

Choose the correct answer from the options given below:
(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (D} and (A) only

A= SArefves o diek faaes 3§ wrar Sgs =1 gs €/ o w1 w87

(A)  Uel

(B) w=H

(C) Cril

(D)  wdrsn

T fou e fasregi | O el 39 1 =E iR

(1) F& (A) IR (B)
(2) FEF9 (B) AR (C)
(3) =9 (C) 3 (D)

@  FEa (D) AR Q)

[Question ID = 4417][Question Description = Q41_PhyEDU_SHAAN_21NOV_51_Shift2]
1. 1

[Option ID = 17131]
2. 2

[Option ID = 17132]
3.3

[Option ID = 17133)
4, 4

[Option ID = 17134]

42) Philosophy consists of followings :

(A) Axiology
(B} Ethics
(C) Aesthetics
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(D) Theology

Choose the correct answer from the options given below:
(1) (A}, (C) and (D) only
(2) (B), (C) and (D) only
(3) (D), (B} and (A) only
(4) (A), (B) and (C) only

a9i 3 Prfefag o 89 8 -

(&) -

B  Hifa e

(C) disd s

@) wifaEm

T few e fasredi § @ ol 3w o = e

(1) A (A). (C) D)
(2) 9 (B). (C) IR (D)
(3)  Had (D), (B) HX (A)

@) FE Q). (B) AN (C)
[Question ID = 4418][Question Description = Q42_PhyEDU_SHAAN_21NOVY_51_Shift2]
1. 1

[Option ID = 17135]
2. 2

[Option ID = 17136]
3.3

[Option ID = 17137]
4, 4

[Option ID = 17138]

43) Energy expenditure can be measured by indirect calorimetry, involves measuring

(A) Heat produced by the body

(B) Oxidative enzyme levels

(C) Oxygen consumption

(D) Carbondioxide production

(E) Respiratory exchange ratio

Choose the correct answer from the options given below:
(1) (A), (C), (E} only

(2) (B), (D), (E} only

(3) (A), (B}, (C) only

(4) (C), (D), (E} only

Jr9ee FATIHA ZT0 317 @I 1 99T ST Teha1 81 Rorm foraent mga wniie 37

Ay il gro searfes e

B) g toEn W
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(C) oA @ud

(D)  HEASEHFEEE €A

(E) a8 UaE=s 9

e Tee o foeredi 4 © Wdl 3T 1 =4 I ;
1) (A), (O). (E)

(2 %3 (B), (D). (E)

(3) A (A), B). (C)

4) %= (O). (D). (E)

[Question ID = 4419][Question Description = Q43_PhyEDU_SHAAN_21NOV_51_Shift2]

1. 1

[Option ID = 17139]

2. 2

[Option ID = 17140]

ai

[Option ID = 17141]

4, 4

[Option ID = 17142]

44)

30 W % WY VO, max ¥ HAl qul framrem 4 w4l 1 g=1 w9 4 frad =l g aff e

The decrease in VO, max with aging and inactivity is largely explained by decrease in

(4)
(B)
(C)

D)
(E)

Choose the correct answer from the options given below:

(1)
(2)
(3
4

Eic1

(A)
®
©
(D)

(E)

Total lung capacity

Maximum heart rate

Arterial mixed venous oxygen difference
Lactate threshold

Maximal stroke volume

B). (O). (E) only
(4). (B). (D) only
(B). (D). (E) only
(4). (C), (E) only

BEE i el Audl

& BT ERCORIT

snfEfora - T fomm sAadism s
ERETURSILEIE T
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I feu o faeregi § 9wl 3 F =a i
(1) %ad (B), (C), (B)
(2) e (A). (B), D)
(3 ¥ (B). D), B)
@ ¥ (A (C), (B)

[Question ID = 4420][Question Description = Q44 _PhyEDU_SHAAN_21NOV_S1_Shift2]

1. 1 [Option ID = 17143]
2. 2 [Option ID = 17144]
3, 3 [Option ID = 17145]
4, 4 [Option ID = 17146]

[Question ID = 4421][Question Description = Q45_PhyEDU_SHAAN_21NOV_51_Shift2]

1
2
3
4

43)

A Afgenall § T8N & GFE F0 VO, max (ml/Kg/min) 31d1 2| 9 I3 w14 3 fF 28 S = o

@ forae o g 37

(A) I gEa Tl

B) I e JHEITE

(C)  F=3 991 S9N

@) A et

(E) %A (7Q) g9 smsege

el fou 7o foaredl 1 @ U2l SR 99 Sl
(L F94 (A). B). (O)

2 &= (B). (C), D)

3  Fad (C). (D). B)

(4)

Women generally have lower VO, max (ml/Kg/min) than men, Research reveals that part

of this difference is attributed to

4)
(B)
(©)
D)
(E)

Choose the correct answer from the options given below:

(1)
(2)
3
€

Higher heart rate

Higher lactate threashold
Higher fat mass

Lower hemoglobin

Lower cardiac out-put

(A), (B), (C) only
(B), (C), (D) only
(C). (D), (E) only
(A), (D), (E) only

FaA (4), (D), E)

. 1 [Option ID = 17147]
. 2 [Option ID = 17148]
. 3 [Option ID = 17149]
. 4 [Option ID = 17150]

prepp
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46) Which of the following are the characteristics of synarthrosis joint?

(A) They are cartilaginous type

(B} They are fibrous type

(C) They are ligamentous type

(D} They have joint capsule

(E) They have no articular cavity

Choose the correct answer from the options given below:
(1) (A), (B) and (C) only

(2) (A), (C} and (D) only

(3) (A}, (B}, (C) and (E) only

(4) (A), (D) and (E) only

Frferfiaa 18 R € e sarse f fdvand 37

(&)  AFEAEE vET R Fid ©)
®) S EEEE v H B 3

©  3femiza yerh 2 8)

O 3 SaEe huge Fd gl

E) I andigeie FHadl T 2 31

i feu e foeredi U & ws 3UgEa TR 1 934 Fife ;

(1) 3 (A). (B) AN (C)
(@ wEa (), (O) (D)
(3)  Had (A), (B), (C) 3R (E)

4  FEE (A), (D) IR (E)
[Question ID = 4422][Question Description = Q46_PhyEDU_SHAAN_21NOV_S$1_Shift2]
1. 1

[Option ID = 17151]
2. 2

[Option ID = 17152]
3.3

[Option ID = 17153]
4. 4

[Option ID = 17154]
47) Which of the following are correct?

(A) Lifting the foot and leg backward from the knee is known as flexion
(B) Radial and ulnar flexion is also known as lateral flexion

(€} Circumduction is done only at siggital axis and frontal plane

(D) Median plane divides the body into posterior and anterior halves
Choose the correct answer from the options given below:

(1) (A), (B) and (C) only

(2) (A) and (B) only

(3) (B}, (C) and (D) only

(4) (A), (C) and (D) only

Freforfiga # @ -0 w=em Tt 37
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(A) T R 20 B g d 3 H R IBE F TFH Fal T 2
B) Hera i serr S W qiRds A %l T 2
(C) AFHSHH, haa fiea vfFm 33t wew wid ™ Frar ST 2

(D) AfET wiE, i % aefer oft i zrew A Tasa w 2ar 21

il Tou 1 feseeat @ o wed sygEq S @1 =24 Fiv

(1)  Fae (A). (B) 3k (C)
2) A (A) ¥R (B)
(3) I B). (C) HR (D)

(4)  =aA (A), (C) IR (D)

[Question ID = 4423][Question Description = Q47_PhyEDU_SHAAN_21NQVY_51_Shift2]
1. 1

[Option ID = 17155]
.00

[Option ID = 17156]
3.3

[Option ID = 17157]
4. 4

[Option ID = 17158]
48) Which of the following are characteristics of Diarthrosis joints?

(A) An articular cavity is present

(B) Joint is encased with in a sleeve-like ligamentous capsule

(C) The articulating surfaces are covered with white fibro-cartilage
(D) The articulating surfaces are smooth

(E) Synovial membrane secretes synovial fluid is present

Choose the correct answer from the options given below:
(1) (A}, (B}, (C} and (D) only
(2) (A}, (B), (C) and (E) only
(3)  (A), (B), (D) and (E) only
(4)  (B), (C), (D) and (E) only

TeftEa # o $H SR Wi 6 a2 7

(A) T i hiadl Hivg gt 2|

B) s wha R % iz 3w Sege J e w2
(C) TepeiteT] s Thg BIEE AR U G Bl 2
(D)  sndigaifen wag ot 2t )

(E) it s, dee it ga = am w20

Hr= fou mu foepedl 0 @ HeE ST S T P

(1) == (A). (B). (C) 3R (D)
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(2)

(3)

(4)

[Question ID = 4424][Question Description = Q48_PhyEDU_SHAAN_21NOV_51_Shift2]

1. 1

FaE (A). (B), (C) 3R (B)
#ae (A). (B). (D) 31k (E)

3 (B). (C). (D) ¥R (E)

[Option ID = 17159]

i

[Option ID = 17160]

ik

[Option ID = 17161]

4. 4

[Option ID = 17162]

49) When we experiment with a new behaviour, the possible out comes are

(A) Positive reinforcement
(B} Negative reinforcement
(C) Vicarious reinforcement
(D) A neutral response

(E) Punishment

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

[Question ID = 4425][Question Description = Q49_PhyEDU_SHAAN_21NOV_S1_Shift2]

P |

(A), (B), (D) and (E) only
(A), (B), (C) and (D) only
(A), (B) and (C) only
(A}, (B) and (D) only

z2n Tl o oraEr & 91y M @ 2 | S ofem 2 8)

<d g8

(A)
(B)
(C)
(D)
(E)

HHRIEH YA
FHRTHS S
iR geer
TS qEEY IH

&l

e feu o faeseni W @ WE I w1 w2E Hifd

(1)
2
(3
4

F (A), B). D) 3 (E)
I (A), (B). (C) 3 (D)
9 (A), B) 3 (C)
Fe (A), (B) A (D)

[Option ID = 17163]

i

[Option ID = 17164]

30

[Option ID = 17165]

4, 4

prepp
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[Option 1D = 17166]

50) Which of the following theories are part of group development?

(A) Linear theory

(B) Cyclical theory

(C) Pendular theory

(D) Non linear theroy

(E) Triangle theroy

Choose the correct answer from the options given below:
(1) (A), (B), (D} and (E) only

(2) (A), (B) and (C) only

(3) (B}, (C} and (D) only

(4) (A), (B}, (C) and (E) only

fraiciaa 0 @ 99 fagm g fawm & wm g2

a) Tafer figm
(B) uEfFasa fugm
(C) vger fagra

(D) a-fafer fagm

(E) IEw faga

H= fou o farsmedl 4 9 @l 39 &1 waq Hifom

(1) = (A), B). (D) 3R (E)
2 FA @A), B) 3R (©)
(3)  w%ad (B), (C) 3 (D)
@) A A), @), (©) I (B)
[Question ID = 4426][Question Description = Q50_PhyEDU_SHAAN_21NOV_51_Shift2]

1. 1

[Option ID = 17167]
%2

[Option ID = 17168]
3.3

[Option ID = 17169]
4, 4

[Option ID = 17170]

51) Which of the following are not a functions of NCTE

(A) Undertaking surveys and studies relating to various aspects of teacher education and publish the result thereof

(B) Recruiting qualified staff in the teacher education institutions

(C) Co-ordinating and monitoring teacher education and its development in the country

(D) Laying down norms for any specified category of courses or trainings in teacher education

(E) Creating job opportunities for the students who have completed teacher education programmes in the NCTE recognised
institutions

Choose the correct answer from the options given below:
(1) (A} and (E) only
(2) (C) and (D) only
(3) (B} and (E) only
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E)

(A) and (B) only

fafrfe da R A s WAL Fdfia?

(A)
B)
(0)
(D)
(E)

H=

(1
2
(3)
@

e fren & il vaeeti 4 weiea aderor 3R Aems S 3R 36 9RO il JaRTie 6
seameR fren wemi 1 srdarare wre i Ryl e

1 reATk Ten = e SR e e e fawm)

sreamss fren & a3 o fordi fafere sofi % arzasat v wfem wg wfoame s

. S, U AT S W AT e & R 1 qU R aret il 3g s s
TG 1 G FEA|

fou o faeheal O & @l 39 % waq il
FIA (A) I (E)
wad (C) 31 (D)
Fa (B) 3 (E)
whad (A) 31T (B)

[Question ID = 4427][Question Description = Q51_PhyEDU_SHAAN_21NOV_51_Shift2]

1.1

[Option ID = 17171]

2. 2

[Option ID = 17172]

£

[Option ID = 17173]

4. 4

[Option ID = 17174]

52) The contents for developing curriculum involves

(A) The dynamics of change

(B) Education trends

(C) Values and myths

(D) Philosophical view points

(E) Curriculum issues

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(A), (B), (D) and (E) only
(A}, (B} and (E) only

(B}, (C) and (E) only

(B), (C) (D) and (E) only

yreasky faema @ T 3 @ e-+1 Wi fagg g wfra gt 27

A)  weaa H e

(B) T ygfa

(C) TEw 3R i

(D)  TEifes oft faess

(E) Oi3asHy gl ame

A= fau e frpedi & W I W1 = A

(1)

&Had (A). (B). (D) 311 (E)
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2  %Fd (A), B) 3R (E)
(3) %A (B), (C) 3N (B)
(4)  Hae (B), (C), (D) 3 ()

[Question ID = 4428][Question Description = Q52_PhyEDU_SHAAN_21NOV_51_Shift2]

1.1

[Option ID = 17175]
)

[Option ID = 17176]
3. 3

[Option ID = 17177]
4, 4
[Option ID = 17178]

53) Which of the followings are correct?

(A) Vitamin A and D are stored beyond certain limit, can reach toxic level
(B) Calcium and sodium are called major mineral

(C) Zinc and lodine are called trace mineral

(D) Riboflavin and Thiamin are fat solube

Choose the correct answer from the options given below:
(1) (A), (B) and (C) only

(2) (A}, (C) and (D) only

(3) (A) and (B) only

(4) (B}, (C} and (D) only

freferfiaa i @ R -3 waq wd €7

A)  ffvea dim @ sftes s g w fSerfia A o D sisia g
(B)  eIfire o WizTm i yy@ wuf+s w71 9 3)

©  fre i smadia #i g8 wfis e s 21

D) el it amafe § gaada £

A=) feu 7re fashedi § & w39 &= hifsn
D) w5 (A). B) I(C)

2 F (A). (C) I (D)

3) %A (A) IR (B)

4)  F& (B). (C) I (D)

[Question ID = 4429][Question Description = Q53_PhyEDU_SHAAN_21NOV_S1_Shift2]

1. 1

[Option ID = 17179]
2. 2

[Option ID = 17180]
B

[Option ID = 17181]
4, 4

prepp
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[Option ID = 17182]

54) From the list of following diseases, identify which are linked to obesity

(A} Cancer

(B) AIDS

(C) Diabetes

(D) Osteoarthritis
(E) Hepatitis

Choose the correct answer from the options given below:
(1) (A), (B), (E} only

(2) (B}, (C) only

(3) (B), (D), (E} only

(4) (A), (C), (D) only

Frferfim st 5 g 3 A T S T B R e ¥ 9

a4 F

®B wH

©) =y

(D) A ey
(E) 2Twmses

Hr= 6T 7o faepedl 4 @ HeH SUgFd I I 9T HIT
(1) == (A). (B). (E)

2  Faa (B). (C)

(3) == (B). (D). (E)

@ F=E @A), (€). D)
[Question ID = 4430][Question Description = Q54_PhyEDU_SHAAN_21NQVY_51_Shift2]
1.1

[Option ID = 17183]
2. 2

[Option ID = 17184]
3.3

[Option ID = 17185]
4. 4

[Option ID = 17186]

55) Which of the following are correct

(A) Insulin-dependent diabetes - pancreas cannot secrete adequate amounts of insulin

(B) Diabetes mellitus - body unable to metabolize glucose

(C) Non-insulin dependent diabetes - adequate number of insulin - receptor sites in cells to absorb glucose
(D) Peptic ulcer - repeated over secration of gastic acids

Choose the correct answer from the options given below:
(1) (A), (B) and (C) only
(2)  (A), (B) and (D) only
(3) (B, (C)) and (D) only
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L (4) (B} and (D) only

frfafan 19 %@ 8 9@ 7

(A)  FYRF sTETiE ngim - ey A i e @ e

(B) ‘meiE Hored — SR AR Sl A S 1 oremd)

(C) TH YA MHTiE AT ~ TRIFN F AT & fore Frsfier 3 gage fhuet agew f
Te T |

(D) it SER - T wfisa i " swaftes ||

= fou e fasedi § 3 wEl 39 1 =rE fifsu

(1) %= (4), (B) 3(C)
(2) FEd (A). (B) 3 (D)
3 % (B). (O (D)
(4) e (B) 3 (D)

[Question ID = 4431][Question Description = Q55_PhyEDU_SHAAN_21NOVY_51_Shift2]
1. 1

[Option ID = 17187]
2. 2

[Option ID = 17188]
3.3

[Option ID = 17189]
4. 4

[Option ID = 17190]
56) Competitions may be classified on the basis of certain criteria like :
(A) Place of competition
(B) Level of competition
(C) Mode of organising competition
(D) Training methodical aspect of competition

(E) Dates of competition

Choose the correct answer from the options given below;
(1) (A), (B}, (C} only
(2) (B), (C), (D) only
(3) (C), (D), (&) only
(4) (D), (A), (E) only

yfeifenati =i Fraforfaa mmde + angr w e fmmn o w3 @

(&)  wfagifiar s w2

(B)  wfawifiean &1 &

(C) 9iaEIPe % A 1 ale
(D)  wleEfian 6t gfwemo-ugf & ua
(®)  wfqfirn $ adid
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AT TCU MY el 3 ¥ Ha1 39 &l =3F HhIT .

(1) %ad (A), B). (©)
(2 % (B), (©). (D)
(3) & (C), D). (A
(4)  HaE (D), (A). (B)

[Question ID = 4432][Question Description = Q56_PhyEDU_SHAAN_21NOV_51_Shift2]
1.

[Option ID = 17191]
7.2

[Option ID = 17192]
3.3

[Option ID = 17193]
4. 4

[Option ID = 17194]
57) There may be different types of meso-cycle training programmes used in sports training in general like:-

(A) Introductory meso - cycle
(B) Preparatory meso - cylce
(C) Pre - competition meso - cycle
(D) After competition meso - cycle
(E) Pre - introductory meso - cycle

Choose the correct answer from the options given below:
(1) (A), (B), (C) only
(2)  (A), (C), (E} only
(3)  (A), (C), (D) only
4y (Q), (D). (E} only
AAR W G Twad 0 wEe FR 9H At Ser-sm UHR F Oui-TEiea SEan e R

oFd 3 J9 -

(A) =TT HH T

(B)  IUEHTCHE A -ATEhA

(€  wicenfran gd w@-amshEa
(D) et % a5 Sqi-areisa
(B) uREa-7d wE-FEEe

A1 feu e Rt 0 O TE I #1599 i

(1) ¥ad (A), (B) @ (C)
(2)  *a= (A). (C) = (E)
(3)  “ae (A). (C) & (D)

4y  Fa@ (C). (D) @ (E)
[Question ID = 4433][Question Description = Q57_PhyEDU_SHAAN_21NOV_51_Shift2]
1.1

[Option ID = 17195]
2, 2

[Option ID = 17196]
3.3
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[Option ID = 17197]
4. 4

[Option ID = 17198]

58) An 1.Q. test was Given to a group of students. The mean score was 66,34, median 70.34 and standard deviation was
9.67. On the basis of given result which of the following are correct?

(A) The test is easy for the student

(B) The test is difficult for the student

(C) The distribution will be positively skewed

(D) The distribution will be negative skewed

Choose the correct answer from the options given below:;
(1) (A) and (D) only

(2) (B) and (C) only

(3) (A) and (C) only

(4)  (B) and (D) only

Bl % Us Uy Wl o7s.wg, glan A wdl i 3 66.34 W, weAw 1% 70.34 A 3R wAS Rreed
9.67 o1 feu 7o ufomg & e W f=fafed ¥ 9 o0 8 wd 47

(A) T2 ufen el % fou smEE 2
(B) 97 viien ol % fou & 2l
(C) T HhRIeHS FY § 31T AN

(D) oo e ¥ | 30T 30T

= Teu U foehedi U § a8 I9YH I Bl 99 BT

(1) %ad (A) 3R (D)
2 %A B) AR (O)
(3  HAW (A) 3R (O)

(4) TS (B) 3R (D)
[Question ID = 4434][Question Description = Q58_PhyEDU_SHAAN_21NQVY_51_Shift2]
1. 1

[Option ID = 17199]
2. 2

[Option ID = 17200]
3.3

[Option ID = 17201]
4. 4

[Option ID = 17202]

59) Which of the following are correct?

(A) Descriptive research is concerned with status and most prevalent technique in survey

(B) Qualitative research is characterised by intensive first hand presence and data is conducted through observation and
interviews

(C) Analytical research involves in-depth study and evalaution in an attempt to explain complex phenomena

(D) Epidemiclogical research is form of experimental research

Choose the correct answer from the options given below:
(1) (A) and (B) only
(2)  (A), (B) and (D) only



Www.prepp.in .repp

Your Personal Exams Guide

- {3) (B}, (C)and (D) only
(4) (A), {B) and (C) only

freferilm # & HR-0 R wal 37

(A) TUAHF STHEHYH T § FE(q 5 § SN Haies TEted g Faem gl

B) T SHEGF B e T Ty swieats 2 § i siwsi = swem Yam s meneE B
areem | FRA e 2

(C) FTeSuTeRs ST H T R I e WA 2 & a1 wted vel i T e so)

D) wemr famm ges srEaT, SEiiTE SgauT H ug 2|

e fou e fasredt & O gerd SuzF IO 1 =Ad ity ;
(1)  FI (A) 311 (B)

2) %A (A). (B) (D)

(3) %= (B). (C) ¥R (D)

(4) A (A), (B) I (C)

[Question ID = 4435][Question Description = Q59_PhyEDU_SHAAN_21NOVY_51_Shift2]
1. 1

[Option ID = 17203)]
2,2

[Option ID = 17204]
3.3

[Option ID = 17205]
4. 4

[Option ID = 17206]

60)
If quartile deviation of a distribution is 6.00, Pyy =50 and Py =10, then distribution curve

will be

(A) Platy kurtic

(B) Leptokurtic

() Normal

(D)  Value of K7 = 0.263

(E) Value of Ky =0.15

Choose the correct answer from the options given below:
(1)  (A) and (D) only

(2) (B) and (E) only
(3)  (A) and (E) only
(40 (C) and (D) only

o Tgao 1 Sgie fa=9em afe 6.00 3, Py =50 31 Py =10 3 a1 faawr as g .

@ < Fi
(B) RFHIEH

i HTOTA
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(D)

(E)

e fou e foepeql 1 § wEW 39 IW 61 A FIN

oY)
(2)
(3
(4)

[Question ID = 4436][Question Description = Q60_PhyEDU_SHAAN_21NOV_51_Shift2]

Ky 1 9F = 0.263

Ky &1 HH =0.15

9 (A) 3 (D)
Had (B) 31T (E)
*®ad (A) 31 (E)
&a (C) 3 (D)

1, 1 [Option ID = 17207]
2. 2 [Option ID = 17208]
3. 3 [Option ID = 17209]
4. 4 [Option ID = 17210]

prepp
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61) Which of the following statements are correct regarding the Sports Motivation Scale (SMS) by R.J. Vallerand and L.G.
Pelletier etc. (1995)

(A) Scale consist of 28 items

(B) Scale comparised of intrinsic motivation as a sub-scale

(C) Scale has 5 point likert scale
(D) Amotivation is one of the sub scale

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

FHAS. deitg ot ua . ueifeat snfe (1995) g/ werge Swon St (SMS) & Hay o fmfafigd 3 |

(A), (B) and (C) only
(B), (C) and (D) only
(A), (B) and (D) only
(A), (C) and (D) only

%M | U g 2|

(&) Bum i 28w B E|

@) e T g Yo 3u-tye % w9 0 EE 2
(©) W H 5 uiEe forbe wha g R

D)  wHifedwA T 9-IE 2

g feu o foepedi o @ W 39 &1 93 FIfR ¢

)
2
3
€]

[Question ID = 4437][Question Description = Q61_PhyEDU_SHAAN_21NOV_51_Shift2]

1.1

e (A), B) 3 (C)
% (B), (C) 3 (D)
wae (A), B) IR (D)
e (A), (C) 3R (D)

[Option ID = 17211]

2. 2

[Option ID = 17212]
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| Tl

[Option ID = 17213]
4, 4

[Option ID = 17214]

62) Which of the following are the items of Chang badminton test?

(A} Long serve

(B) Overhead Drop Shot
(C) Smash

(D) Strategy

Choose the correct answer from the options given below:

(1) (A), (B) and (D) only
(2) (A) and (C) only

(3) (A), (C) and (D) only
(4) (A), (B) and (C) only

a1 Sefites wlao & e fcifafea d 9 $-8 87
(A) &mad

(B) 3NEEs g wie

(© ¥
(D) = (orifa)
49 feu v foeregi 0 9 98 IR &1 331 ifsw ;

(1) 99 (A), (B) 3R (D)
2) %A (A) FR ()
(3) AN (4), () 3R (D)

4)  FF (A), (B) 3R (C)

[Question ID = 4438][Question Description = Q62_PhyEDU_SHAAN_21NOV_S1_Shift2]

1. 1

[Option ID = 17215]
2. 2

[Option ID = 17216]
3.3

[Option ID = 17217]
4, 4

[Option ID = 17218]
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63) Which of the following statements are correct regarding achievement motivation questionnarie by M.L. Kamlesh

(1990)?

(A) Questionnaire consists of 20 items
(B) Each statement has maximum 2 as response value

(C) Subjects scoring below 24 points indicated moderate sports achievement motivation
(D) Subjects scoring above 30 points indicated high sports achievement motivation

Choose the correct answer from the options given below:

(1) (A), (B) and (C) only
(2)  (B), (C) and (D) only
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- (3)
(4)

(A}, (C) and (D) only
(A}, (B) and (D) only

TR U FHHA (1990) ZRI Iqenfey Jon wenaet & g0 8§ S -1 wuF o 9 9 wd 20

&)
(B)
©

(D)

Hr=
(1
(2
3

4

yyaEelt § 20 W2 2 21
werh FeA § arfuean 2 gfafsea dey 20 21
SfH SR 24 § A YIS TR YIed FLaT 2 39 Ggferd Serge I9Te1 IR =61 e sl 2)

S IR 30 U152 TR U HLdl 3 T I3 WaAdhe JUfedl TN ) U el 2|

feu o fompedi 0 @ WA 39T W1 A Fifde .

A (A), B) 3R (C)
%l (B), (C) 3R (D)
9 (A), (C) 3R (D)
I (A), (B) 3 (D)

[Question ID = 4439][Question Description = Q63_PhyEDU_SHAAN_21NOV_S1_Shift2]

1.1

[Option ID = 17219]

2. 2

[Option ID = 17220]

S

[Option ID = 17221]

4. 4

[Option ID = 17222)]

64) Which of the following are the principles of personnel management?

(A) Avenues for career advancement
(B) Delegation of authority

(C) Recognition of Individual differences
(D) Autocratic approach

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(A), (B) and (C) only
(A) and (B) only

(A), (C) and (D) only
(A), (B) and (D) only

frafafea § @ #R-8 Fits v = fage 22

&)

(B)

<)

(D)

HRIA Bl 3 G- H IFTH
YR 1 TS
Fafdaer Prral 1w
AT gfeesr

fr9 feu mo foysredi o O W 3w & ¥ Fifde . wEd 399
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(L) %I A), B) 3R (C)
(2)  ad (A) 3 (B)
(3)  FHIA (A), (O) 3Rk D)

(9  HEE A), B) AR D)

[Question ID = 4440][Question Description = Q64_PhyEDU_SHAAN_21NOVY_S1_Shift2]
1. 1

[Option ID = 17223]
2. 2

[Option ID = 17224]
S

[Option ID = 17225]
4. 4

[Option ID = 17226]
65) Which of the following are the branches of the classical theory of management?

(A) Scientific management Theory

(B) Administrative Theory

(C) Bureaucracy Theory

(D) Human resource Theory

Choose the correct answer from the options given below:
(1) (A), (B) and (D) only

(2) (B}, (C) and (D) only

(3) (A) and (B) only

(4) (A), (B) and (C) only

Fretaigs o § yova A FaEa bga i SEE e 87

(A) THE TEEE

®) e g
(C) s Wigm

(D) AFa wEieE g

Hr fou 7o foeredl 9 O o ST W 994 e

(1) Faa Q). (B) I (D)
(2)  =ad (B). (C) ¥R (D)
(3)  Ed (A) 3R (B)

(4 e (A). (B) 3 (O)
[Question ID = 4441][Question Description = Q65_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17227]
1)

[Option ID = 17228]
3.3
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[Option ID = 17229]
4. 4

[Option ID = 17230]

66) Match List | with List Il ;
List | (Countries they belong)
(A) Sweden
(B} Germany
(C) Great Britain

(D) United States of America

List Il (Physical Educationist)
()] Archebald Maclarn
(Il) Per Henrik ling
(lll) Eduward Hitchcock
(Iv) J.C.F. Guts Muths

Choose the correct answer from the options given below:

() (1)

@

(A)-qi, (®B) - (1), €} - (v), (0 -

(A) - (I, (B) - (M, (<€) -, (D) -

(3)  A)y-(y, By - (), (€ - (v), (D) - ()

(Ay-(), (B) - (v), (€} - (), (D) -

@y
gt I o & et I1 &1 et <hif .
T 1 - (en e ddy W 3) Tt 11 — (it foven wmeh)
@) W @M HAehace deeH
B) Ef (D) R B fom
© W fa: (III) UEaE Tacapieh

D) wIH U FnfER

IV) <0, TeH U

Hra feu o fameredt @ wdl 39 =1 w4 i .

O @W-a & -0 (©-av @O - Jdmo
@2 @W-O. @’ -dnp © -dnp O - adAv
3 @W}W-dn ®-ady © -avw. O - O

@ @»-a @’ -a), © -O @O - JdIm

[Question ID = 4442][Question Description = Q66_PhyEDU_SHAAN_21NOVY_51_Shift2]

1. 1

[Option ID = 17231]
Pl

[Option ID = 17232]
3.3

[Option ID = 17233]
4, 4

[Option ID = 17234]

67) Match List | with List Il ;
List | (Altitude condition)
{A) Hypobaric environment
(B) Hypoxia
(C) Partial pressure reduction

(D} Dehydration

List Il (Consequence)
()  Impaired oxygen uptake
(Il) Air temperature decreases
(Ill) Reduced Atmospheric pressure

(I¥) Increased pulmonary ventilation

| Choose the correct answer from the options given below:

prepp
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(1) (A)- (U}, (B) - (1}, €) - (v), (D) -
()
2) :ﬁ; (i, By - , (€) - (IV), (D) -
(3) (A)-qv), (B) - (), (€) - M), (D) - ()
(4) :ﬁ-}) (), (B) - V), (C) - (1}, (D) -
= 1% wry = 11 %1 e i
gt 1 (fRafa) aeft I1 — (951)
(A) BRI ST @ swgfa st &
(B) BEAfTE (I} =% FT99H %1 54 ZH
(C) <=E U Fo w ([I) TeHAERe (araawia) game i &
(D) fstetiam (IV) e =dielyd § agiad
4= feu mu fasmaedl @ wd S w1 9 Fifve .
1 @-a. & -0 ©O© -av. @O - JdID
@ @-an ®-O © - dv). O - dn
B @-av. ® -dadn © -3an o) - O
4 @A@-dn ® -av. ©-O. @O —dp

[Question ID = 4443][Question Description = Q67_PhyEDU_SHAAN_21NOV_51_Shift2]

14

[Option ID = 17235]
3ol

[Option ID = 17236]
3 3

[Option ID = 17237]
4. 4

[Option ID = 17238)]

68) Match List | with List Il :

List 1 (Joint)

(A) Irregular
(B) Hinge
(C) Condyloid

(D} Ball and socket

(0
(1)
(i
(V)

List Il (Movement)
Uniaxial
Bioaxial
Triaxial

Nonaxial

Choose the correct answer from the options given below:

€y - (n, (@) -

€ - (), (D) -

(€ - am, (@) -

€} - (v), (D) -

(1) ::I\I})- M, (B) - (IV),
@) :ﬁl))- avy, (B - O,
(3) :ﬁ)} {}N (B) - (Iv),
@ :ﬁll)- a, (B) - (1),
=i I a1 g=t I 1 e Hiiv

iy T .f—l"\h—.l'\.

=t} TT !wﬁ%—u—u—r—;‘mmw&r\

prepp
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(&)

(B)

(&)
(D)

B R e =T

T

f&t

M-
1A U Hihe

'\'&\“'ll AL TR REITERGN T TR TR

O FHfreaE
(In) =i v
) e
V) Rt

He feu e fomeredl 9 98 39 %1 937 SHifow -

(1)
2
6)
@

A-@m. ®& -av. © - d, @O - dDn
A-Iv). ®-0. © - d). (D) - d
@»-@O. @ - adv. © - dn, {d) — an
A@-am, @ -0, (© -av). @D - Jdm

[Question ID = 4444][Question Description = Q68_PhyEDU_SHAAN_21NOV_51_Shift2]

1.1

[Option ID = 17239]

2. 2

[Option ID = 17240]

S

[Option ID = 17241]

4. 4

[Option ID = 17242)]

69) Match List | with List Il :

List | {Psychological approach)

(A)
(B)
(C)
(D)

Social psychology
Cognitive psychology
Physiological psychology

Developmental psychology

List Il (Examples in sport psychology)
() Skill acquisition
(Il Team Cohesion
(Ill} Arousal and performance

(IV) Social learning

Choose the correct answer from the options given below:

(A)- (v}, (B) - (1), (€) - (I,

(1)

(2)

(3)

(4)

{1l

1))

(A)- i, (B} - (), (C) - (my,

(I

V)

(A) - (I, (B) - (I, (€) - (),

(I

V)

(A) - (Iv), (B) - (I}, (€) - (M), (
=t I = o g=f 11 =1 e fifse

(&)

®)

(©)

D)

gt I — (T 3amm)
TR fFerene Al
TerErgTeT® FAiesE

4 fBu v Teeedl o 99 S w1 999 Fs

1)

A -av), B - O, (©) - {dh.

(D) -
(D) -
(D) -

D) - (O

ot I1 — (Gegs Fellem= o 357E)

D) - (D

prepp
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2y  @-=4adbh. @B - b, L) - A,
3 A-adn. @ - O. (©) — ab.
4 @)-3av. @& - dn. (<€) — {ID,

) - 1@V)
D) — av)
D) - @

[Question ID = 4445][Question Description = Q69_PhyEDU_SHAAN_21NOV_51_Shift2]

1.1

[Option ID = 17243]
3.7

[Option ID = 17244)]
3.3

[Option ID = 17245]
4. 4

[Option ID = 17246]

70) Match List | with List Il :
List | (Technological resources in PE class)
(A} Pedometers

(B} Heart rate monitors
(C) GPS

(D) Bioimpedance devices

List Il (Benefits/Purpose)
(1) Tracking of speed and direction
() Assessing body composition

(lll} Records the number of steps
taken

(I¥) Intensity levels of activity

Choose the correct answer from the options given below:

(A)- (1), (B} - (), (C) - ()

(1) )
2) (A)- (1), (B) - (), (€ - (1,
(1v)
(3) (A)- Uy, (B) - (IV), (C) - (1),
Y
(1)
gl T % g = 10 w1 frerm it
gt T (.4, wen § it deem)
(A) SR
(B) 3R ® AifRR
(C) fi.diuam,

(D) SREEHSE ITHWI

(D) -

(D) -

(D) -

(D) -

o= 1T — (9 /3599)
(@O wfa 3R e & S
D i B FAE B AT
WD) fore 7o =il & faid 1w
avy frarpamg =) a1 H TR

4= feu o freredt @ v v w1 9 Hifse .

(1) A -dn. B — dI. ©) - @O, D) — IVv)
(2) A-dn. B —@. (O — dII), @) - dVv)
B @-3n ®-av, ©-O, @O - Jdp
4 @A-a), B -3dan, © - am, O - D

[Question ID = 4446][Question Description = Q70_PhyEDU_SHAAN_21NOV_51_Shift2]
1. 1

[Option ID = 17247]
2. 2

[Option ID = 17248]

prepp
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[ 3. 3

[Option ID = 17249]
4, 4

[Option ID = 17250]

71) Match List | with List 1l :

List | (Programme/policy) List Il {Year of starting)
(A) Mational Malaria Control 0 1955
Programme
(B) National Filaria Control an 1962
Programme
{C) National Tuberclosis Programme (liy 1953
{D) National AIDS Control Policy (V) 2002

Choose the correct answer from the options given below:
(1) (A)y-Q0uy, @) - ), (©€) - {4v), (D) - ()
(A)- (), (B) - (), (C) - (), (D) -

@ 4w
(A) - (I, (B) - (1), (Cy - (I, (D) -
(3) (V)
(Ay- (), (B) - (), (C) - (), (D) -
(4) (V)
=t 1% wre g 1L fram Hifae
gl I - (i /Hif) gl 1T - (31 B3 %1 a9)
(A) T meEfeEn Raan sEEn @ 1955
(B) TS st Frgo SrEEen I 1962
(C) g qifes wrtsy (IID 1953
D) T ugH P i V) 2002
4= fou 7o fawaedi O wE ST %1 =999 i

(1) @-Adh. ® -adh. © - aAv. @O - D

2 @Ww-dh), @ -0, (© - an, @) - 1IV)
@ W-dh B -O ©-dd. @O - av)
4 @W-d, @ -dh © -O @O - dAV)

[Question ID = 4447][Question Description = Q71_PhyEDU_SHAAN_21NOV_51_Shift2]
1. 1

[Option ID = 17251]
2. 2

[Option ID = 17252]
3 3

[Option ID = 17253]
4. 4

[Option ID = 17254)]

72) Match List | with List Il :
List | {Periods) List Il (Types of exercises)

(1) Training forms of competitive
(A) Preparatory period - | exercises (coincide but different
movements)
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(B} Preparatory period - |l

(C) Preparatory period - Il

{D} Competition period - IV

(1

Special preparatory exercises,

preliminary, (Mastering the forms of
movement)

{1y

Competitive exercise proper

(Real condition with rules)

(V)

Special preparatory exercises,

developing (improve physical qualities)

Choose the correct answer from the options given below;

(1) (A)- (v}, (B) - (), (C) - (1), (D) -
(1)
(A) - (1), (B - (v), (€) - (), (D) -
(2) (1)
(A) - (1), (B - (), (C) - (), (D) -
(3) (IV)
(4) :f;}) (1v), (B) - (I}, (C) - (), (D) -
= 1 gy = 1T &1 e i
Tl 1 - (3rafa)
(A) dard 6 s -1
B) darfl H @il - 11
(C) Al 6 safy — 11
(D) wivafen 6 safs — IV
4= feu mu faereredl @ @l I w1 =99 Hifaw -
1 @-av, ® -an © - @.
@ @-o @ -adav, © - dn,
@ @-O @ -an, (© - JIm,
4) A)-awv), ® -0, (© - JdIn,

o= 1T — (rfafafe & yan)
@ wfearh nfafafe & ofem - weg gu-
1Y T e 9ty WA-fim dwem)
D fesy darl gafi wiafeftmt sRive (@=em
% TG W Q0] FHEErd WH HEI)
@D vferft nfafafmt, sftm (Femii & @y

sfae feafq)

@V) fasim dart meefi wiafafal  famrasiia
(arrdifeep ot | HEw)

(D) — dID

(D) — dID

(D) — V)

D) - (1D

[Question ID = 4448][Question Description = Q72_PhyEDU_SHAAN_21NOV_51_Shift2]

1.1

[Option ID = 17255]
2. 2

[Option ID = 17256]
e

[Option ID = 17257]
4. 4

[Option ID = 17258)]

73) Match List | with List Il :

List | (Limits)
(A) -2 sigmato -1 sigma
(B) Oto + 2sigma
(C) -1to +2sigma

(D} -2 sigma to +2 sigma

0
(n
()
()
V)

List Il (% of area in NPC)
95.44

13.59

72.67

81.85

47,72

Choose the correct answer from the options given below:

A-m, By - (M, (€ -(v), (D) -

(1)

()

prepp
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2) (A) - (), (B) - (IV), (C) - (I}, (D) -

(1)
(3) :f;}- ay, By - ), (€ - V), ©®) -
@ W, @ -, ©-m -
(1)
T 1% Wiy g 11 % foem fif
@ LR Tl @O 9544
B 0 +2fwm @ 13.59
6 ~18 £ 2R I 72.67
(D) —2 fymm @ +2 fam V) 8185
(V) 47.72
419w T Rl @ w8 9 W WA AT

1 @-0O, @® -dn, © -¢). @O -3
@ @-ap. @ -av, O -0. O -0

@ @W-om ®;- ©-aOm O-O
@ @-1m. @ -an, -~ O -0

[Question ID = 4449][Question Description = Q73_PhyEDU_SHAAN_21NOV_51_Shift2]
1.1

[Option ID = 17259]
2. 2

[Option ID = 17260]
e

[Option ID = 17261]
4. 4

[Option ID = 17262)]

74) Match List | with List Il :

List | (Measurement) List Il {Test)
(A) Motor educability (1) Fleishman test
(B} Motor fithess (I Metheny - Johnson test
(C) Motor Ability (lll) Newton test
(D} Physical fitness (I¥) Kirchner test

Choose the correct answer from the options given below:
(1) -0, B - V), (€} -y, @) - @)
(2) A)-qn, @) - M), (© -a4v), @ - )
(3) A)y-(u, (B) - (IV), (C) - (), (D) - ()
(4) A)-(v), (B) - ), (€} - (i), (D) - )

Tt 1% e gt 11 =1 firem $ifaa
gt I (amn) 1 1T (adizon)
(A) AR Aemfraan (O i ghem

B) Hre feedw AD AR - ghan

" "~
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(L) HIed gl

(D) wriifs feew
i fou o faweedl 9 g 3w @ ayn Fifsm .

(1) A —dD, @) — av), () — dlD,
2 A-d. @B - dn, (© - dav,
3 @-dan, B - av, (© - d,

@ A-av. @ - d, (© - Jdm,

(L1} g HUEvl

(IvV) T ufiegm
D) — O
O - @O
D)y - @
D) - @

[Question ID = 4450][Question Description = Q74_PhyEDU_SHAAN_21NOV_S$1_Shift2]
1. 1

[Option ID = 17263]
3.2

[Option ID = 17264]
3.3

[Option ID = 17265]
4, 4

[Option ID = 17266]

75) Match List | with List 1l :
List | {Game) List Il {Circumference of the ball)
(A} Cricket (Women) (1) 22.4-23.5¢cm
(B) Hockey (I 27.6-28.3cm
(C) Softball (Women) (Iny 22.4-22.9 cm
(D) Tennis (V) 22-22.9cm
Choose the correct answer from the options given below:

(A) - (I}, (B) - (I, (C) - (I}, (D) -

(1) (V)
(Ay-(my, (B) - (1), (C) - (), (D) -
(2) (V)
(A) - (1), (B) - (1), (€) - (), (D) -
@ W
(A)- (), (B) - (), (Cy - (), (D) -
(4) (V)
= 1% Ty g= I %1 fram i
g I — () =it 11— (31g <6l ufif#)
(A) forepe (afiem) @O 22.4-235aHd.
(B) B I 27.6-—28.3 4.1,
(C) drweara (afgen) mn 22.4-229 a4,
(D) <fFm Iv) 22-—22.0 1.1,

19 feu 7o faweredl @ o= 3w =1 w93 i .

O @-@ ® - © - O
@ @-@p, B -, © -0,
@ @-O @ - (© - a,

@) — V)
(D) - V)
D) - @V)
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@ @W-dap. -0 ©O©-ad O -av

[Question ID = 4451][Question Description = Q75_PhyEDU_SHAAN_21NQVY_51_Shift2]
1. 1

[Option ID = 17267]
2.0

[Option ID = 17268]
3 3

[Option ID = 17269]
4. 4

[Option ID = 17270]
76) Arrange in sequence the presidents of Indian Olympic assocation from first to last

(A) Ashwani Kumar
(B) Suresh Kalmadi
(C) Sir Dorabji Tata
(D) Maharaja Bhupinder singh

Choose the correct answer from the options given below:
(1) (B), (C), (D), (A)
(2) (A), (B), (C), (D)
(3) (D), (A), (B), (C)
(4) (C), (D), (A), (B)

wieerg Sifafis oifausm & sregeri @) yam | sifan 9 sz =1

(4)  FEdt FER

(B) W FHA

(€C) WIS
®©) wErEn o g

49 fev 7o fFeweai 4 @ g 3@ @ =E Ehifu .

@B ®. ). D). A
@ @A, B, 0. D
3 D), @A), B, O
@ (©.DO). A, B

[Question ID = 4452][Question Description = Q76_PhyEDU_SHAAN_21NOV_51_Shift2]
1. 1

[Option ID = 17271]
2. 2

[Option ID = 17272]
3.3

[Option ID = 17273]
4, 4

[Option ID = 17274]
77) Some steps of chemical reactions of glycotycis are depicted below; find the correct sequence of their appearance
(A) Citric acid

(B) Acetyl CO-A
(C) Fructose-1-6-diphosphate
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| (D) Oxaloaectic acid
(E) Glucose-6-phosphate

Choose the correct answer from the options given below:
(1) (C), (E), (B), (D), (A)
(2) (C), (E), (D), (A), (B)
(3) (E), (©), (B), (A), (D)
(4)  (E), (C), (D), (A), (B)

RIS % TaEfs wE (e fuwm) ®5 9 gtE w2, 39 el 39 %l o
& |

&)  =ERE s

(B) A - Co-A

(C) FFeN - 1-6 — STHEEES

D) FAFCES

(E) T - 6 - BB

Hrg feu o fawew) O 8 o 3@ &1 9@ 69 .

(1) (©O.(E), B). D). &)
@  (O.®, D). A. B
(3)  (E). (C), (B). (A). (D)
(49 (E), (C), D). (A). B)

[Question ID = 4453][Question Description = Q77_PhyEDU_SHAAN_21NQOVY_51_Shift2]
1. 1

[Option ID = 17275]
2,2

[Option ID = 17276]
3.3

[Option ID = 17277]
4. 4

[Option ID = 17278]
78) Arrange the skeletal muscle macro structures in a sequence from outer to inner

(A) Endomysum

(B} Epimysium

(C) Sarcolemma

(D) Perimysium

(E) Scarcoplasm

Choose the correct answer from the options given below:;
(1) (D), (B}, (A), (E), (C)

(2) (B), (D}, (A}, (C), (E)

(3) (B), (A), (D}, (E), (C)

(4) (D), (A), (B), {C), (E)

Thelodl WO (930) Fshl Wt o 9 O fiqt & w9 U safem w1

(A) vEmHEREm
®) ufEiem



Www.prepp.in .repp

Your Personal Exams Guide

(C)  wiepicdta
(Dy  of ursfirm
(E) Wiy

fra few o famwedi I @ o I w1 A HifT

@B D). ®). A, E.©
@ B, D). &), ), E)
3 B).A.D.E. O
@ @D, @A).®B).©), E)

[Question ID = 4454][Question Description = Q78_PhyEDU_SHAAN_21NQVY_51_Shift2]
1.1

[Option ID = 17279]
2.2

[Option ID = 17280]
3.3

[Option ID = 17281]
4. 4

[Option ID = 17282]
79) Find the correct sequence of Maslow’s hierarchy of needs in ascending order

(A) Safety and social needs

(B) Physiological needs

(C) Self-actualisation

(D} Esteem needs

(E) Intellectual and aesthetic needs

Choose the correct answer from the options given below;
(1) (C), (E), (D), (A), (B)
(2) (B), (C), (D), (E), (A)
(3) (B), (A), (D), (E}, (C)
(4) (C}, (A), (D), (E), (B)

HAWE E H qTHA] & 64 & HI9HE %0 &% T2l Y &1 Jdq1 oI |

(&) e 3R Amfsee S
(B) gAdwi® strervasmdl
(C)  31Ted Iy oAl

D) THA R TEE

() wifgs s giedws s&@
4 few MU ot 4 @ wd 3w &1 T2 HifF .

1) (©), (E), D). ). B)
@ ®.0.0).6. W
3 B, @A), D.[E), )
@ (O, A).D.E.®
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[Question ID = 4455][Question Description = Q79_PhyEDU_SHAAN_21NQVY_51_Shift2]

1.1

[Option ID = 17283]

2

[Option ID = 17284]

3. 3

[Option ID = 17285]

4. 4

[Option ID = 17286]
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80) Find the correct sequence of Indian universities ranks in the first edition of Khelo India university games. From top to
bottom

(A) Punjabi University, Patiala

(B} Panjab University

(C) MDU, Rohtak

(D) Mangalore University

(E) Savitribai Phule Pune University

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

[Question ID = 4456][Question Description = Q80_PhyEDU_SHAAN_21NQVY_51_Shift2]

Tl

gal sfem fagafoenem "o % vom T § yndw favafeEnadi & & % w6 %0 &1 251 &

&)
(B)
©
(D)
(E)

#14 fev 1o fawedi 4 @ udl 3w @1 w9a iy .

ey
@
6)
@

(E}, (B), (A), (D), (C)
(B), (E), (A), (C), (D)
(A), (C), (E), (B), (D)
(B), (D}, (A), (C), (E)

gl favafaaner, vt
EEICRENEI CHI D)

L B BN Fi

e favaferreaa
RUCEIEIER SREEE CRIRR!

(E). B). (4W). D). (C)
(B). (E). (A4). (O). (D)
(&), (O). (E), (B), D)
B). @), (4). (©). (E)

[Option ID = 17287]

2. 2

[Option ID = 17288]

323

[Option ID = 17289]

4. 4

[Option ID = 17290]

81) Arrange the following vaccines in a sequence of first to last from their years of invention

(A) Rubella

(B) DTP
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- (C) Mumps
(D} Yellow fever
(E) Diphtheria

Choose the correct answer from the options given below:
(1) (C), (D), (&), (B), (E)
(2) (E}, (D), (B}, (C), (A)
(3) (B), (A), (C), (D), (E)
(4) (C), (D), (E), (B), (A)

Taferfaa dvenl =6t Iep anTfearshr fopn 9 %6 =9 § IR ¥ 310 & 9 1§ afer w

-

(A) &S
@ Sad
(C) wrd

D) Il iR
E®) fefifan

= feu o fasredi § A w390 & 9 hifae

@)  (O. (D). @A) B). (E)
2 (B, D), ®B),. ©O), A
@ ®).AW. 0. 0. E
@  (©), D), E, B, A

[Question ID = 4457][Question Description = Q81_PhyEDU_SHAAN_21NOV_51_Shift2]
1.1

[Option ID = 17291]
%2

[Option ID = 17292]
2

[Option ID = 17293]
4, 4

[Option ID = 17294]

82) Sequentially arrange start to compeletion, the following factors in order of their developmental phases during a training
programme in sports

(A) Technical aspects development

(B) Mental training

(C) Tactical aspect development

(D) Physical fitness development

(E) Model forms of competitive exercises

Choose the correct answer from the options given below:
(1) (D), (C), (B), (A), (E)
(2) (D), (A), (B}, (C), (E)
(3) (D), (E), (A), (C), (B)
(4) (D), (A), (E), (C), (B)

wage & feell afam Frdmn & Sm Fmkafes st & faem & @0 4 3% oEfer #

(A) TR v e
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(B)  mrf ufiem
() ifsas 93 R
D) i el fawe
(E)  ufqwad] nfgfafeat =1 qrea =

Hra fee o fawegl 4 @ 9l I = =W Hifu .

1 D). ), B). Q). E)
2 @O.W.®.©.E
3) (D). B @A) (OB
@ D @A), E), ), ®

[Question ID = 4458][Question Description = Q82_PhyEDU_SHAAN_21NOV_51_Shift2]
14

[Option ID = 17295]
3ol

[Option ID = 17296]
3 3

[Option ID = 17297]
4. 4

[Option ID = 17298)]
83) Arrange the following steps of planning a questionnarie in correct sequence from start to end
(A) Determining research objectives
(B) Revise as needed, finalise and duplicate
(C) Gather data, tabulation and final report
(D) Evaluation of questions and pretest

(E) Development of questions

Choose the correct answer from the options given below:
(1) (A), (B), (E), (D}, (C)
(2) (A), (E), (D), (B), (C)
(3) (A), (D), (E), (C), (B)
(4) (A), (E), (B}, (C), (D}

ferelt wemTarelt @ Weg § AeAn sa waa frafaiaa s B sy A o & wdl v A st )
(A) IEHEYR % A H AR HwE

(B)  SEYIFHA F SIAR WA HE, ifem w9 e 3 gad wiet (geefishe) s

(€) % uwa wE1, grofl 91 3R 3R fo dam

@) sl 3R gdelian F geEi

(E) i %1 fgwm w0

= few o faepedl o 9 98 31 %1 93 $ifu .

1 @A), ®), E), D). ©
2 @A), E,D).®.©
3 (A, D) [E.©). B
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4 @), E).B), ). D)

[Question ID = 4459][Question Description = Q83_PhyEDU_SHAAN_21NOV_51_Shift2]
< 0

[Option ID = 17299]
2. 2

[Option 1D = 17300]
2

[Option ID = 17301]
4. 4

[Option ID = 17302)
84) Arrange the following steps of skill test construction in ascending order

(A) Establish the exact procedures for the administration and scoring of the test
(B) Analyse the game or physical qualities

(C) Determine reliability and compute objectivity

(D) Establish validity

(E) Select the test items that measure desired qualities

Choose the correct answer from the options given below:
(1) (B), (E), (A), (D), (C)
(2) (B), (E), (A), (C), ()
(3) (B), (A), (E), (C), ()
(4)  (E), (B), (A), (C), (D)

Iy v wgayH (fFmi) & Fafafaa = & 308 w9 4 e

(A)  wliem % yeaa ik w@mifen & fer w= wfsea 1 @imam s
B) TE F Ty e W oEE

(©) favadfiaa =1 fako st feefrsa = oferem

D) W= R A

(E) 38 e wg %1 934 fwa Fifza qon i W S w56

Fra few Mo fawedi o O wEl I & 99 Hifde

@D B.(E)A). D, O
2 B, (E). A, ©), D)
@ B, @), ®.O.D
@ (E). B). A).©), D)

[Question ID = 4460][Question Description = Q84_PhyEDU_SHAAN_21NOV_51_Shift2]
e

[Option ID = 17303]
2. 2

[Option ID = 17304]
3, 3

[Option ID = 17305]
4. 4

[Option ID = 17306]

85) Arrange the sequence of steps of budgetting process in ascending order

(A) Analyse past budgets and compare it with new requests
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(B) Justify the figures and present the budget
(C) Interpret and Evaluate the budget

(D} Gather Data

(E) Construct the budget

Choose the correct answer from the options given below:
(1) (D), (A), (E), (B), (C)
(2) (D), (E), (A), (B), (C)
(3) (E}, (D), (A), (B), (C)
(4) (D), (E), (B}, (A), (C)

Tarten gfspan & Fenl + 3T 0 ° syafeg & .

(A) Tisa a9 #1 faveivu FE1 3 Fu A0 5 Wy G s
® Alwd w1 siifeey fag w1 qen S92 WEE B

(C) 99 < =& IR ATk FH1

D) IS T FE

(E) g9 fmio s

4= feu o faedi 4 @ vt 39t &1 vA difdu .

(D). &), E). ®B).©)
(2 (D), (E). Q). B), (C)
3 (E). D). @A.®),(©
@ D, E.B. . O

[Question ID = 4461][Question Description = Q85_PhyEDU_SHAAN_21NOV_51_Shift2]
1. 1

[Option ID = 17307]
2. 2

[Option 1D = 17308)]
3 3

[Option ID = 17309]
4. 4

[Option ID = 17310]
86) Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : During prolonged exercise in the cold, as energy supplies diminish and exercise intensity declines, a person
becomes increasingly susceptible to hypothermia

Reason R : Exercise triggers release of the catecholamines, which increase the mobilization and use of free fatty acids for
fuel. But in cold vasoconstriction occur,

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct and R is NOT the correct explanation of A
(3) A is correct but R is not correct

(4) A is not correct but R is correct

il 2 %A fou e # | w AR (Assertion A) % ®Y 4 fafaa 2 @1 g@U 36k HAW (Reason R) %
®q 4,

ARERYA A : Tdl ¥ el wa % SUE Al gfd W g I 2 3 e ) e w9 2 9 2, |99
eafaa & ‘arruam (Eraefiiamn gz st 21
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FH R : srfess wow@ 9 serenfa Fraem 2 S sum & o e g snE w1 gifeensseE
FA 2 3R 36% WA W "Rl T 2 R wd & foA A Ao (A )
R ]

IR FY S @S °, 9 fGu Mo fepedi T § 999 399H W FH 957 Hife

(1) A 3R RIF A 2 3R R, A F g =rE 2
(2 AR TN Fd 2 IR, A g =wen T4 2

(8) A wdl2afea Rud ad 2
€Y A Td 7 2 @ R 91 3

[Question ID = 4462][Question Description = Q86_PhyEDU_SHAAN_21NOV_51_Shift2]
1.

[Option ID = 17311]
7.2

[Option ID = 17312]
3.3

[Option ID = 17313]
4. 4

[Option ID = 17314]
87) Given below are two statement :

Statement I : In two tail test, 2.5% of the area of the normal curve falls on the right of 1.96 standard deviation above the
mean and 2.5% to the left of 1,96 standard deviation below the mean.

Statement Il : In one tail test, for testing the difference between large sample means, z score of 1.64 is taken as Yardstick
at the 5% level of significance.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement | and Statement Il are correct.

(2) Both Statement | and Statement Il are incorrect,
(3) Statement | is correct but Statement Il is incorrect
(4) Statement | is incorrect but Statement 1l is correct

H= 21 %o fgm o A

FI ;T O o H WIHTE 9% W 2.5% &9 9N % S 1.96 O = il ol I ugdr 3 iR
9.5% %7 med % = 1.96 7% faaem F 911 I usat 3

FFEIL: TF 301 7% § 9% UacH WA ¥ S St F 90em B B 19U 5% oiae rErERE W
1.64 1 Z TRIT l qSeeh =+ Y F ferdn = 2l

STIE F F s 4, A 5T T e § # weE 9 ST H 9 i)

(1) e I e I g sl 21
(2) =y I @R IO 2F 7o 3l
(3)  ®F I = 2, St %A I 7ord 3
@) A I e g, St weA 11 udt 8

[Question ID = 4463][Question Description = Q87_PhyEDU_SHAAN_21NQVY_51_Shift2]
1. 1

[Option ID = 17315]
Lok

[Option ID = 17316]
3.3
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[Option 1D = 17317]

4. 4

[Option ID = 17318]

88) Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : If the only force acting on the projectile is the force of gravity, the trajectory of projectile will be parabolic.

Reason R : During the flight vertical factor remain constant and horizontal factor provides downward acceleration at 9.8 m/s

In the light of the above statements, choose the correct answer from the options given below:

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true and R is NOT the correct explanation of A
(3) Ais ture but R is false

(4) A is false but R is true

= @ %A fom e 31 v oTfirRed (Assertion A) % ¥4 1 foiflad 2 91 58U 36 HRW (Reason R) &

TOH

sifirpem A 3fe TR W HIA TRQ g HM F I 2 T HE0 H TSRS WIS B

FR:  3gF A Falu Fis RN E®a 3 3 3fae e 9.8 m/s W sieigeh nfy wem w5 8¢

ST HYA o e 4, A9 fou e fawedi 9 | weh 30w IW w1 5= Fifn)

ey
@)
3
(4)

A 3R R gFI &8 § 3 R, A %) w&l =amemn 2]

A 31 R 391 @8 2 3 R, A ) vt sarem 7 2
A T# R AfsT R wdt i #

A &) T B A6 R w2

[Question ID = 4464][Question Description = Q88_PhyEDU_SHAAN_21NOV_51_Shift2]

1.1

[Option ID = 17319]

2. 2

[Option ID = 17320]

Pl

[Option ID = 17321]

4. 4

[Option ID = 17322)]

89) Given below are two statements:

Statement | : Whenever subjective measurement is called for, every effort should be made to make the subjective
evaluation as objective as possible

Statement Il : No amount of objective measurement will replace sound judgement, nor is there anything wrong with
subjective judgement.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement | and Statement |l are true.
(2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement 1l is false
(4) Statement | is false but Statement Il is true

9 € +uq feu mu |

—erT T .

= oft == T =5 o= == 3 o s T = Brew e = == =T e
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FUAIL:  THell i YR H SRS WH gRp v i gieeniia a@ @ g, 3 a9 SAfEaws
i % a9 § $9 e 2

U HeA % I 8, = Tou e R O B W 30w 39 &1 95F Sl

(1) ®eF I SO N w8
(2)  ®A I 3T I F1 wrera 21
B) M I HE 3, dfkd 9 I T4 2

(4 U I 7erd 2, Aferd ®ua I 9t 8

[Question ID = 4465][Question Description = Q89_PhyEDU_SHAAN_21NOV_51_Shift2]

P |

[Option ID = 17323]

i

[Option ID = 17324]

(e

[Option ID = 17325]

4, 4

[Option ID = 17326]

90) Given below are two statements:
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Statement | : Financial management helps the organisation to survive and sustain itself by preventing misuse and wastage of
funds.

Statement Il : Physical education and sports programmes can never be effective, if there is no sound financial management.

Int
(1)
(2)
(3)
(4)

he light of the above statements, choose the correct answer from the options given below:
Both Statement | and Statement Il are true.
Both Statement | and Statement Il are false,
Statement | is true but Statement Il is false

Statement | is false but Statement Il is true
49 @ wum feu o 3

FeA 1 :  fosfim ysus felt dmea g1l g el % gEwm i i | S=e 38 S= AR Y
T 1 we wE Rl

FEIL: 7T v foadm vaya w1 2 at sriifen fran otk werge srdsen &t oft gt = 81wl

U HYA 5 el 8§, e fen 7o faweui O @ w98 U IW & 93 Hif)

(1) % I3 IS ud €
2y %W I 3R I gHI 7o 2l
(3 W 14 2, dfek e I e 2
@) YA 17 2, Sfea ua 11 wE 3

[Question ID = 4466][Question Description = Q90_PhyEDU_SHAAN_21NOV_51_Shift2]

1.1
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[Option ID = 17327]
2. 2

[Option ID = 17328]
3 3

[Option ID = 17329]
4. 4

[Option ID = 17330]

Topic:- 47PhyEDU_B

1) Answer the question on the basis of the following passage :

Carona-Virus has caused world-wide pandemic of respiratory illness, Club-shaped glycoprotein spikes in the envelop give the
virus a crown like appearence. To fight against virus or bacteria immune system of our body performs four major functions;

(i) It recognizes foreign substances

(iiy It defends our body by attacking these substances
(i) It protects from reinfection

(iv) It performs survillance

Innate immunity is the protection that we are born with. Active or adaptive immunity developes when we are
infected with or vaccinated. Passive immunity happens when we receive antibodies from out side, say transfusion of blood
products.

Physical activity may boost our immune system. Exercise may help flush bacteria out of the lungs and air ways.
Exercise causes change in antibodies and WBCs, the body’s immune system cells that fight against disease. The brief rise in
body temperature during exercise may prevent bacteria from growing. Exercise slows down the release of stress hormone
which may protect against illness. When people are rather forced to stay at home to stop spread of corona virus, WHO
suggested for participation in physical activity, 60 mts/day moderate to vigorous for 6-17 years, 75 mts/wk vigorous or 150
mts/wk moderate 2 to 3 days/wk, respectively for adults.

Fretertaa T=me & YR W Y S S B

FRAT arRd ot fBvg 4 = ged diod 2) 7eet w0 s g dem-ongd & TR A |
TAFTS (S=eT9) § o 30 IR UFHe FGT AR YGH TR Ay o sfFsfen o agd § g el i wiarie
JOTAT TR WY HE FAl 2, A 5 UHR B

() == =TE TEA A vEEE w1 2,

(i) = I | we TR TR A S g

(i) =g G-HHHE0 U AT ] 2,

(v) =z FRE ® B w2

AT Tkl ST 98 GRET el & o1 29 G K 2| |RE A1 Afed STl e as faemta B 2
w9 BH WHMT B WG B AU T SRR B Sl 3| Teaet Saul 2T a9 2l 2 5™ 29 W ¥ TeieE e
F & (o7 T TG 1 TS Fa@l T 2| WHieh BraThe gHR T aual i ael 76 3

=T HhEl It YA Ateiwrr § dfdeien w5 aret w0 gwar 21 oA vdieide aun e s H. 91 IR &
ot Tl PR B 2, J UM U @84 3, ¥ 9iadd B bl 2| SaEng % gRE IR b a5 gt |
et dfFzfe i aed § U Uhal 21 I a9 20 % EE B B © 1 2N S o w2 S e
T FRAAT T F TR F U F 0 W T T H o AR B 7 @6 seeq ua. e, (fava wmem wme) A
5% 7T g9 T 5 3 wriies nfatatte § 9m S 6-17 Wie i SH A’ ® o0 60 FEgE /AR, 9
teer 2, 75 TFem/f T a3 wEn 150 Trem /o aww wme= 2 9 3 /i e o+ e
FAA: 2

Structure of covid-19 virus includes protruding spikes made up of

(1) Lipid (2) Cystokinine
(3) Starch  (4) Protein

HIfS-19 IrE <6l FLEA H el 1 (TEa) Mikd 3 8 51 fa o | foee® = 2A 32

1) fafe
(2)  GrEdHEItE
(3) wWH

e i, SN .
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1. 1

[Option ID = 17331]
2. 2

[Option ID = 17332)]
3 3

[Option ID = 17333]
4, 4

[Option ID = 17334]

2) Answer the question on the basis of the following passage :

Carona-Virus has caused world-wide pandemic of respiratory illness. Club-shaped glycoprotein spikes in the envelop give the
virus a crown like appearence, To fight against virus or bacteria immune system of our body performs four major functions;

(i) It recognizes foreign substances

(ii} It defends our body by attacking these substances
(iii) It protects from reinfection

(iv) It performs survillance

Innate immunity is the protection that we are born with, Active or adaptive immunity developes when we are
infected with or vaccinated. Passive immunity happens when we receive antibodies from out side, say transfusion of blood
products.

Physical activity may boost our immune system, Exercise may help flush bacteria out of the lungs and air ways,
Exercise causes change in antibodies and WBCs, the body’s immune system cells that fight against disease. The brief rise in
body temperature during exercise may prevent bacteria from growing, Exercise slows down the release of stress hormone
which may protect against illness. When people are rather forced to stay at home to stop spread of corona virus, WHO
suggested for participation in physical activity, 60 mts/day moderate to vigorous for 6-17 years, 75 mts/wk vigorous or 150
mts/wk moderate 2 to 3 days/wk, respectively for adults,

Frafataa T $ STUR W YT TR T

HRAT arrd ot g 7 = gedt dimi 21 qEEe w1 B o - b raEsidE die S
TAFIF (=ieTa) § o7 35 9 6l qFHe HGT AFPR TaH A1 9y 41 dfreien o @sd ¥ gun wln F wiavi
e TR e B HAl §, A 59 TR B

@) =% wEA TEeR A vEEE w2,

(i) T oA IE § S TR IRA R S g,

(i) =g G-HHHAY U AT AT 2,

(v) = T = e w2

TR TfeRIe & o8 GEen il 2 o 2% Seia U 2| Ghea o1 Tieq Jioarel amar a9 entee 2 2
T BH WHMT T TG B ST 9 SIS B ST 21 TTHe S AT 99 2t B S B9 WER § TS e
F 3 T8 0 STG] 1 ZEFTH el Sl 21 Wiieh HRAThe g TRt amar H 961 76 8

=Y wEgl I TaE AfasrEl d dfFfan = gt v gwar 31 =Ew wdEide oo s g | st #
atqaref! womedt w2 2, S U U WS 3, § uladd B Oedl 2| SAPH % I IR B 99 8 et o
s SfFie = agd O Uk 9ol 21 SEM a1 oM % |1d 0 %9 Bl 2 9 28 s O sEnd 21 S| @
T HRAAT TEE F TR F U F O W T T H o AR B 7 @6 oo wa. e, (fava wmem wme) A
3% A8 guE o & 3 ot el ¥ 9m § 6-17 W Fl 39 Al # o 60 FEea/aikaa, ame o
AR 2, 75 TFem/i T a3 sEn 150 Trem /e awm wme 2 @ 3 T/ e o+ e
HA: 2

One of the functions of body’s immune system is to identify the foreign harmful substance and destroy the mutant cells, is
called

(1) Recognization
(2) Protection
(3) Survillance

(4) Defence

SR I gfatel SOl 1 U BT S8 GaEes eIl i YR B 991 BT BRI 6 AR HEl
2, o fomr 4 @ w1 = Sirar 21
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[Question ID = 4468][Question Description = Q92_PhyEDU_SHAAN_21NOV_51_Shift2]
2 B

[Option ID = 17335]
10

[Option ID = 17336]
3

[Option ID = 17337]
4, 4

[Option ID = 17338]

3) Answer the question on the basis of the following passage :

Carona-Virus has caused world-wide pandemic of respiratory illness. Club-shaped glycoprotein spikes in the envelop give the
virus a crown like appearence. To fight against virus or bacteria immune system of our body performs four major functions;

(i) It recognizes foreign substances

(ii} It defends our body by attacking these substances
(iii) It protects from reinfection

(iv) It performs survillance

Innate immunity is the protection that we are born with, Active or adaptive immunity developes when we are
infected with or vaccinated. Passive immunity happens when we receive antibodies from out side, say transfusion of blood
products.

Physical activity may boost our immune system. Exercise may help flush bacteria out of the lungs and air ways.
Exercise causes change in antibodies and WBCs, the body’s immune system cells that fight against disease. The brief rise in
body temperature during exercise may prevent bacteria from growing. Exercise slows down the release of stress hormone
which may protect against illness, When people are rather forced to stay at home to stop spread of corona virus, WHO
suggested for participation in physical activity, 60 mts/day moderate to vigorous for 6-17 years, 75 mts/wk vigorous or 150
mts/wk moderate 2 to 3 days/wk, respectively for adults.

e T T STUR W S F S T

FHRAT ard 1yt fovg J e weel dmdl 21wl w wer g - & TaERmeE ol
TAFE (F=ET) 2 30 FRAY W OFH2 AU PR NeH TR gy A dfefen o @sd ¥ sun wn Ay wi
ToNel IR W R 7, A 59 WER F

() == =T TS e w2,

() 7 A I | we TR TR A S g,

(i1} =g G-HFHHAY U AT AT 2,

Av) =% Rt w1 e wEt gl

T TR T 9% TRET B & TR 3R Snd UK B| Wied M e S e o e B 2
w6 BH WHMG B WG B AU T SRR B Sl 2| Teaet STaul 2T a9 2l 2 5™ 29 W ¥ UEieE 9
w3 o1 0 TG B TS Fal Tl 2| Wi eAThe SRR Tiiidt ama i ag1 w6 3

=T HREl It YA Ateierr § dfdien w5 aret B gwar 21 o vdeide aun e L E. 91 IRk &
wierrel womedt FIEE B 2, W UM U @S 3, ¥ 9iadd B bl 3| e % g IEiE b qone 5 gt |
St dfFfo =+ ae § UF UHhal 2| I g S % 9 B B £ 1 2N S o sw 2 S e
T FRAAT TEE F TR F U F 0 WA T o AR B 7 79 oo wa.en. (fava wmem o) A
5% T g9 T 5 3 wriies tatatte § 9 S 6-17 Wie i SH g/l % oY 60 FEgE /AR, g
wter 2, 75 Teem/fa wwaE a3 wEn 150 Trem /o aww wmw= 2 @ 3 /i e o+ e
FAA: 2

Passive immunity developes by way of
(1) Vaccination (2) In-born quality

(3) Blood product transfusion {4) Infected from an affected person
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[Question ID = 4469][Question Description = Q93_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17339]
7.2

[Option ID = 17340]
3. 3

[Option ID = 17341]
4, 4

[Option ID = 17342]

4) Answer the question on the basis of the following passage :

Carona-Virus has caused world-wide pandemic of respiratory illness. Club-shaped glycoprotein spikes in the envelop give the
virus a crown like appearence, To fight against virus or bacteria immune system of our body performs four major functions;

(i) It recognizes foreign substances

(ii} It defends our body by attacking these substances
(iii) It protects from reinfection

(iv) It performs survillance

Innate immunity is the protection that we are born with, Active or adaptive immunity developes when we are
infected with or vaccinated. Passive immunity happens when we receive antibodies from out side, say transfusion of blood
products.

Physical activity may boost our immune system. Exercise may help flush bacteria out of the lungs and air ways.
Exercise causes change in antibodies and WBCs, the body’s immune system cells that fight against disease. The brief rise in
body temperature during exercise may prevent bacteria from growing. Exercise slows down the release of stress hormone
which may protect against illness. When people are rather forced to stay at home to stop spread of corona virus, WHO
suggested for participation in physical activity, 60 mts/day moderate to vigorous for 6-17 years, 75 mts/wk vigorous or 150
mts/wk moderate 2 to 3 days/wk, respectively for adults,

Frfeiea T % STUR WO F S T

FREAT arRg Tyt fovg # = e g 21 g 1 R s dem -+ TR i S
TAFTS (S=e9) 9 o 30 IR UFHe JGT R Yo e amg a1 sfFefen @ agd 8 g el i wharie
Toel TR W Rl 8, A 59 TR D

@) 7= A Tt vEaE wd g,

(i) A el | Ge TR TR A S g
(i) =g G-HHHY U AT T 2,

Av) == R w1 e st gl

T TieRiEll ST 98 RET Bt 2 O 3% SeNd U B | hed T Afea Tl amar as o w2
ST TH THMT T WG & ITUE ST ST 51 Sl 2| Uee Sl AT O 2t B 5 56 SR § UAEier e
F 3 T8 0 STAG] 1 ZFH el Sl 21 Wieh FRAThe g Tl A H 961 76 8l

=T gl It YA At ° sdfdefen w5 aret B wwar 21 oA vdieids aun e s E. 91 IR &
wtaiel el PifvERd it 3, A O O wisd 2, ¥ gRedd R ahdr 31 SAEW % S IHR % a5 gt |
St SfFzfe F aed § UF OHal 21 I g S % 9 B B £ 1 2N S o w2 S
1 FRAT FERE F TR F UFA = ¢ WA T % o womg &7 0 a9 oo, w=.90. (e wmE we) |
5% 7= g9 T 5 3 wriies ntatatte § 9w S 6-17 Wie Fi S aml % oY 60 FEgE/ake, e d
wter 2, 75 TFem/afa T fas 3 sEn 150 Treem /o e wme= 2 @ 3 /i e o+ e
FAT: B

To protect our body from infection exercise may be helpful by way of

(A) Increasing body temperature to prevent bacteria to grow
(B) Increasing muscular strength to fight against bacteria

(C) Exercise may help flush bacteria from lungs

(D) Exercise slows down release of stress hormone
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Choose the most appropriate answer from the options given below:
(1) (A), (C), (D) only
(2) (A}, (B}, (C} only
(3) (A), (B), (D) only
(4) (B), (C), (D) only

il %) Hav 8 wuE 5 o s ey v wEes B aedl 2 -

(&)  9ir % F9a@ w1 FeEd e = 38 9 o 2
(B) wEuRf Hud S S 8 diie dfFeiE | wgr . wek|
(©) =uram wwe § AfFfen =1 am fee g B
(D) SIHM A48 EHE & 919 &l F9 F@ 2

H= feu mu faeedi § @ wwd Iugw W H 95 IR -

1) %= (A), (©), D)
2 ¥ (@A), B). ©)
(3) &I (A), B). D)
@ % (B), (C). D)

[Question ID = 4470][Question Description = Q94_PhyEDU_SHAAN_21NOVY_51_Shift2]
1.1

[Option ID = 17343]
2. 2

[Option ID = 17344]
3.3

[Option ID = 17345]
4, 4

[Option ID = 17346]

5) Answer the question on the basis of the following passage :

Carona-Virus has caused world-wide pandemic of respiratory illness, Club-shaped glycoprotein spikes in the envelop give the
virus a crown like appearence. To fight against virus or bacteria immune system of our body performs four major functions;

(i) It recognizes foreign substances

(iiy It defends our body by attacking these substances
(iii) It protects from reinfection

{iv) It performs survillance

Innate immunity is the protection that we are born with. Active or adaptive immunity developes when we are
infected with or vaccinated. Passive immunity happens when we receive antibodies from out side, say transfusion of blood

products.

Physical activity may boost our immune system. Exercise may help flush bacteria out of the lungs and air ways.
Exercise causes change in antibodies and WBCs, the body’s immune system cells that fight against disease. The brief rise in
body temperature during exercise may prevent bacteria from growing. Exercise slows down the release of stress hormone
which may protect against illness. When people are rather forced to stay at home to stop spread of corona virus, WHO
suggested for participation in physical activity, 60 mts/day moderate to vigorous for 6-17 years, 75 mts/wk vigorous or 150
mts/wk moderate 2 to 3 days/wk, respectively for adults.

Frafataa = $ STUR W YT T G

FRAT arEd 9yt ovg § wee wed e 21 qeedl w0 s g Jem -t & IEweE i S
TAEIF (3eTa) § o7 35 91EE H qFHe NG AR T A amEng a1 dfreion o @sd § g wliw i wiauid
Toel IR W Rl 7, A 59 WER F

() = W= T TR w2,

(i) T oA IE § S TR IRA R Sl g,

(i) 2 GTEHAN ¥ ¥ ] 2,

Av) ag T =1 % sl R
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I TRATH & 98 TRET BN & T BN STa UK £| Hied A ied SRR e o e B 2
W6 BH WA B S AYAl ST S Bl Sl 2| TeAa Tl ST @ 2l 3 W™ g9 W d i T
w0 3 Tl o oAl 1 e wal S 21 i e sEE iR e B ag @ 2|

=AY HhEl It YA Al 8 dfdien w5 aret w0 g 21 oA vdieids an e s H. S IR &
wtcielt yomedl iR 2 2, W1 U U w@sd 2, § aiadd Rl 21 AR % R IR b aoEE § aigt |
sera HfFzfen =+ ae T U Oal 21 I g 20 % | B B © 1 2N S o Sw 2 S e
I BRI TEE F TAR F TF F QWA T % o qeeg A T a9 see waLen, (v wmeE we) 3
3= 7% geE on 6 3 wrifes fafafim § am | 6-17 wa F 3w Al % o 60 Feem /g, a9
wter 2, 75 TFem/f T a3 wEn 150 Trem /e aww wmw 2 @ 3 /i e o+ e
T 2|

During pandemic, when people are forced to stay at home WHO suggested physical activity (PA) for adults and elderly

(A) Moderate PA for 150 mns/wk, 2 days/wk
(B) Moderate PA for 150 mns/wk, 3 days/wk
(C) Vigorous PA for 75 mns/wk, 2 days/wk
(D) Vigorous PA for 75 mns/wk, 3 days/wk

Choose the correct answer from the options given below:
(1) (A) and (C) only
(2) (A) and (D) only
(3) (B) and (D) only
(4) (B) and (C) only

Tl % SRE S A0 R B 8 T % o1 Aoy Fen T A e wmmem e (WHO) 3 e aii
T % fore TiTes Bramem (PA) 9 71 g3 o)

(A) 150 Frea /awane Hoe g PA, 2 @& /g

(B) 150 forea [acare Hiae gme=r PA, 3 fa/awe

(€ 75 fiem fuwae e sl PA, 2 B /e

D) 75 Toea/awE Haw s1taw PA, 3 fF /o

Fi= fou 7o faewent § © = St 9ae Hife

1)  FEA (A) 3R (©)
Q)  aA (A) 3R (D)
(3) A (B) I (D)

(4)  aw (B) FH (C)
[Question ID = 4471][Question Description = Q95_PhyEDU_SHAAN_21NQVY_51_Shift2]
1. 1

[Option ID = 17347]
2.2

[Option ID = 17348]
3.3

[Option ID = 17349]
4. 4

[Option ID = 17350]

Topic:- 47PhyEDU_C

1) Answer the question on the basis of the following passage :
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Many people in the recent past saw women body-builders as rebels or deviants, as freaks of nature, This was the case
because most of the people in Western cultures saw genders in terms of differences that divide all humans into two distinct
and mutually exclusive categories: females and males. According to this classification system, females are defined as the
“weaker sex” and femenity is associated with being soft petite, emotional and in need of protection, in fact dominant
standard of feminine beauty over the past century has been associated with vulenerability and weakness. Males on the
other hand, are defined as the stronger sex and mascularity is associated with being hard, strong, rational and defender of
women. In fact masculine attractiveness traditionally has been associated with invulnerability and strength. And many
people simply assume that “Mature intended in that way. Women body builders have challenged this gender logic and in the
process have threatered many people’s ideas about how the world works, According to dominant gender ideology, women
body-builders are unfemine, because they are “too muscular”, and ugly because their bodies are not soft and vulnerable.
But not everyone accepts this ideology. For those seeking alternative definitions of feminity, women bodybuilding has
provided new images that some people find exciting. They like the idea of challenging traditional notions of “Female
frailty” and raising questions about the biology of gender difference. Women bodybuilding has encouraged this process by
showing that hardness and strength are not exclusively the attributes of males.

Frafafas T $ 3Ngr W N 989 96-100 & IW B

froel T g 8§ am uizen siE-facell 1 werp 1 vufefaa ama 2 5 h wefa W € @ 2
& Fro el Tfa § sifuwa @ St @ s smamatt % w9 # e € 9 9qE wEs & Q)
srem-srem Afei s aresfes fafiee ofgen ofn ey 9 arr 21 st wifeo yelt % sgER afsensi &)
‘R forr” & w9 1 gftaftE fe e 2 den AiEEms w1 gEY Hiaadl; Yo WEREs 3 e geen @
SEd Bl 21 | R 3o B anda ¥ W v 9 nfgen ) smam o suar 1 afgen ) g 3 Siew
Y@ T @ 21 e 3 g% o1 wete form o w9 o uitnfia e w2 9w drewd w1 geY 3% w3l UeEd ;
qeptTa S Higen e 21 Arkdd H qEY ABYU WRrT §9 8 Af{g o aegn | weiud g1 s agd # A
w1 WE TR TR wE 2 Ty 3 T A saen 217 oigen sidifeesti 3 S a9 @ o @ 2 o
a4 Al & foEw i B gRen wR A S 2, & S @ 31 geEard) e e % sigEn afgen
digifaced 3SR (un femine) 3, FifH 3 “Fga SurQ “wiEgwsfia” aun FE9 T & wifE T IR
e /wme 3 Flig T8 Fen 21 wig wft dm gm femaw B 9@ aed 20 S a9 afgena s
afTsT ggd @ e fore Afgen ardifvfegn A 42 sfy gqm 1 2 58 $= @1 9 39 1 s wEd d) 9
“ufgen WEr % grRufeE fer @ T S vEe S 3 awn IR e % o fafiee % aR d gee 3er 3
Afeenatt % IR 734 3 39 vikT1 i 98 Te@m gu Ik T @ f% waian 3R arsd waal gedl & 71 8 &)

Female bodybuilders are considered as which of the following :
(1) Unfeminine (2) Soft
(3) Yulnerable (4) Female frailty

wfgen =7El faegt = HofoRaa d € @ wmy S 27

()  3ESEARA (2) $mEd
(8  HHAR (4) wfeen wRar

[Question ID = 4477][Question Description = Q96_PhyEDU_SHAAN_21NOV_51_Shift2]
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[Option ID = 17371]
2. 2

[Option ID = 17372)]
S

[Option ID = 17373]
4. 4

[Option ID = 17374]
2) Answer the question on the basis of the following passage :

Many people in the recent past saw women body-builders as rebels or deviants, as freaks of nature. This was the case
because most of the people in Western cultures saw genders in terms of differences that divide all humans into two distinct
and mutually exclusive categories: females and males. According to this classification system, females are defined as the
“weaker sex” and femenity is associated with being soft petite, emotional and in need of protection, in fact dominant
standard of feminine beauty over the past century has been associated with vulenerability and weakness. Males on the
other hand, are defined as the stronger sex and mascularity is associated with being hard, strong, rational and defender of
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women. In fact masculine attractiveness traditionally has been associated with invulnerability and strength. And many

people simply assume that “Mature intended in that way., Women body builders have challenged this gender logic and in the
process have threatered many people’s ideas about how the world works. According to dominant gender ideclogy, women
body-builders are unfemine, because they are “too muscular”, and ugly because their bodies are not soft and vulnerable.
But not everyone accepts this ideclogy. For those seeking alternative definitions of feminity, women bodybuilding has
provided new images that some people find exciting. They like the idea of challenging traditional notions of “Female

frailty” and raising questions about the biology of gender difference, Women bodybuilding has encouraged this process by
showing that hardness and strength are not exclusively the attributes of males.

Fafafas T $ 3NgR W N 98 96-100 & IW B

e o8 W 8 | ufsen sE-facell #1 agrp W vakEtEa ama € e R ysl @ a2
7l SR ufvadt a4 sfusmal dm dfieear @l fafis sEarmst & 9 4 d@d 2 S 9gE qEE 6l d
srem-sem Afrei i groafes fafire ufgen ofn ey 94 arr 21 st wifeo wnelt % sgEr afsensi &)
‘R fort” & w9 4 uftafiE fe e 2 den AiEEms w1 gEY Hinadl; Yo WEeEs 3 e geen @
S B 21 | R 330 7) anaa ¥ W v @ ufgen B wwam o wuer) o afgen 1 e | S
TE TR @ 21 e 3R B 1 were form o w9 o uitnfa e w2 9w dRewd w1 gEY 3% w3 U9 ;
qeptTa S Hfgen e 21 arkdd H qEy ABYU W ®9 8 Aflle ok Aogn | welud g1 s wga § A
1 W AR W TR el 2 R Cwela 3 T @ e 217 ofeen atdifsesdl A difts a9 @ o ) 2 ain
=ga ¥ A & fa=wl i R gen wR @ =l 2, @ g @ 21 aeEand S faemur % sEr afgen
Sigifaced 3SR (un femine) 3, Fifd 3 “Fga SurQ ‘wiEvsfa” awu FE9 T & wifE T R
e fwme 3 flig T8 e 21 wig wft am 3w feemaw B 9 aeg 20 S a9 afgena sl
gt ggd @ e fore wfgen ardifvfegn A 42 sl gqm A 2 58 $9 @ 9 39 1 s wiEd d) 9
“wigen Wi & grRufE e H S G vEe w3 @ 9w it wE % o fallean % 9R d see 38r @)
Afgenatt & K 734 3 38 vl i 98 Te@m g Iifg b @ f6 waian 3R arsa waa gedl o U 8 8

Male is defined as ;

{(A) Hard

(B) Strong

(€) Rational

(D) Too mascular

Choose the correct answer from the options given below:

(1) (B), (C) and (D) only

(2} (A), (C) and (D) only

(3) (D), (B} and (A) only

(4) (A), (B) and {C) only

y& 1 Fforfaa 4 @ foee w9 o wfonfg fea mn 22

(A) FR
(B) Hddd
(C) aHETd

(D)  3Teaives weusf Ja

#4 feu e frmedi 4 9 aft 3w %1 93 Hifsm

(1) %39 B), (C) 3R (D)
@  F9 A, (O) 3R D)
(3 e (D). (B) 3 A)
@) Q) B) IR (C)

[Question ID = 4478][Question Description = Q97_PhyEDU_SHAAN_21NQVY_51_Shift2]
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[Option ID = 17378]

3) Answer the question on the basis of the following passage :

Many people in the recent past saw women body-builders as rebels or deviants, as freaks of nature, This was the case
because most of the people in Western cultures saw genders in terms of differences that divide all humans into two distinct
and mutually exclusive categories: females and males. According to this classification system, females are defined as the
“weaker sex” and femenity is associated with being soft petite, emotional and in need of protection, in fact dominant
standard of feminine beauty over the past century has been associated with vulenerability and weakness, Males on the
other hand, are defined as the stronger sex and mascularity is associated with being hard, strong, rational and defender of
women. In fact masculine attractiveness traditionally has been associated with invulnerability and strength. And many
people simply assume that “Mature intended in that way., Women body builders have challenged this gender logic and in the
process have threatered many people’s ideas about how the world works. According to dominant gender ideclogy, women
body-builders are unfemine, because they are “too muscular”, and ugly because their bodies are not soft and vulnerable,
But not everyone accepts this ideclogy. For those seeking alternative definitions of feminity, women bodybuilding has
provided new images that some people find exciting. They like the idea of challenging traditional notions of “Female
frailty” and raising questions about the biology of gender difference. Women bodybuilding has encouraged this process by
showing that hardness and strength are not exclusively the attributes of males.

Fafafas T $ 3NgR W N 98 96-100 & IW B

froel T8 a3 4 am afzen sE-faeell 91 werp o vufefaa ama 2 5fe h wefa W & & 2
7l R ufvadt wepfd 4 sfusmal o dfieear @l fafis sEarmst & 9 4 d@d 2 S 9qE qEE 6l d
srem-sem A s srofes fafiee ufgen ofn ey 94 arr 21 st wifeo vl 5 sgEr afsensi &)
‘R forr” & w9 4 uftafiE fe e 2 den AiEEms @1 gEY Hiaadl; Yoo WEeds 3 e geen @
S Bl 21§ IR 330 7) anaa ¥ W v @ ufgen B wwaa R wuer) o afgen 1 Hew | S
TE TR @ 21 e 3R %Y 1 were form o w9 o uitnfya e 2 9w dRewd w1 gEY 39% w3 U9 ;
qeptTa S Higen e 21 arkdd H qEy ABYU ST ®9 8 Aflle ok aogn | weiud g1 s agd § A
1 W AR W TR el 2 R Cyela 3 T @ e 217 ofeen atdifsesdl A dfts a% @ o ) 2 ain
=ga ¥ A & fo=wl i R gien wR A =l 2, @ g @ 21 aeEeand S Ty % sEr afgen
Sigifaeed 3SR (un femine) 3, Fifdh 3 “Fga SR wiEwsfa” aw FE9 T & wifE FH TR
e fwme 3R Flig 7@ Fen 21 wig wft dm 3w fEmaw B 9@ om0 S a9 afgena sl
aferst ggd 2 I T wfgen srdifafegn 3 w3 oy yq@ <6 2 o™ o9 @M 3 A9 3 3Eds TEd ) 9
“nfyen wrEn” % grafes frer w5 I S yhe FE 2 awn iR w6 o v % AR 9 we e 3
Afgenatt & T 734 3 38 Wik i 98 Te@m g Iifg T @ f% waiar 3R aea waa geul & U 8 8

Which of the following is an alternative definition of female

1) Female frailty (2) Soft

(3) Emotional (4) Female new image
frefeifiaa @ @ - afgan 6 afar &1 dafous 190 87
(1)  wfgen W @ wHma
3 HgH (4) wfgen A 7da sl

[Question ID = 4479][Question Description = Q98_PhyEDU_SHAAN_21NOV_51_Shift2]
< 0

[Option ID = 17379]
2. 2

[Option ID = 17380]
2

[Option ID = 17381]
4. 4

[Option ID = 17382)

4) Answer the guestion on the basis of the following passage :
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Many people in the recent past saw women body-builders as rebels or deviants, as freaks of nature. This was the case
because most of the people in Western cultures saw genders in terms of differences that divide all humans into two distinct
and mutually exclusive categories: females and males. According to this classification system, females are defined as the
“weaker sex” and femenity is associated with being soft petite, emotional and in need of protection, in fact dominant
standard of feminine beauty over the past century has been associated with vulenerability and weakness. Males on the
other hand, are defined as the stronger sex and mascularity is associated with being hard, strong, rational and defender of
women. In fact masculine attractiveness traditionally has been associated with invulnerability and strength, And many
people simply assume that “Nature intended in that way. Women body builders have challenged this gender logic and in the
process have threatered many people’s ideas about how the world works. According to dominant gender ideology, women
body-builders are unfemine, because they are “too muscular”, and ugly because their bodies are not soft and vulnerable.
But not everyone accepts this ideology. For those seeking alternative definitions of feminity, women bodybuilding has
provided new images that some people find exciting. They like the idea of challenging traditional notions of “Female
frailty” and raising questions about the biology of gender difference. Women bodybuilding has encouraged this process by
showing that hardness and strength are not exclusively the attributes of males.

Fafafad 7w $ 3Ngr W N 989 96-100 & ITW B

froel T8 g 4 A afzen sE-faeell 91 werp o vufwefaa ama 2 9 i wefa W & @ 2
el uivedt A@wpfd § sfywd @m e w1 Rt sEanmet % w9 4 cgd 8 o) 9= e &l Q)
sren-sem Afe s sreafes fafiee ufgen ofn ey A4 arr 21 st wifso well % R afsmnsi &)
“FHar fam” % w9 1 ufenfya femn mn R 9 wfeemm w1 wew winaar; gge wEwns SR R geen 6
SEd Bl 21/ IR 330 7) anaa ¥ W vl 9 ufgen B wwam o wuer) # afgen 1 Hewr | S
TE TR @ 21 SR 3 % o1 were form o w9 o uitaita e w2 9w dRewd w1 HEY 3% w3 U9l ;
qeptTa S Afgen e 21 arkad H qEY ATBYU W §9 8 Aille o aogn | weiud g1 s wgd § A
F W GR W A el 3 Cwsfa 3 wm @ s 217 ofgen ardifesd A i @9 gE 9 @ e
Fga 4 Al & foEwl i 76 gRen wR A Sadl 2, 1 S @ 21 geEard) Wi e % sigEn afgen
digifaced 3SR (un femine) 3, Fifd I “Tga Surg “‘wigusfia” awn FE9 T & wifE T TR
e /Fwme 3 Flig T8 e 21 wig wft dm zm faemaw B 9@ om0 S a9 afgena sl
afTsT ggd @ e fore Afgen ardifsfegn A 42 sl gqm A 2 58 $3 @1 9 39 1 s wiEd d) A
“nigen WEEn” % grafes fomam s S o vhe w8 awn IR W S forn fafiemn & 9RO ware 39| )
Afeenatt % TR 734 3 38 vikT i 98 Te@n g Ik fh @ % waRar 3R aea waa gedl & T 8 £

Gender is defined in the following categories :

(A) Male
(B) Rebel
(C) Female
(D) Deviant

Choose the correct answer from the options given below:

(1) {B) and (A) only (2) (D) and (C) only
(3) {B) and (D) only (4) (A) and (C) only
fom =1 Frafaiaa afvmi 4 gfonfya fen s o 27
Ay 9=

® T
(C) ufgen

@) w faueemat

A= Teu mu faeredi § 9 98 I w1 999 Fifsu

1)  %F (B) 3N (A) (2) waaA (D) 3 (C)
@ ¥4 (B) 3 D) (@ %A (4) 3R (©)

[Question ID = 4480][Question Description = Q99_PhyEDU_SHAAN_21NQVY_51_Shift2]
1. 1

[Option ID = 17383)]
| 2.2
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[Option ID = 17384]
3. 3

[Option ID = 17385]
4, 4

[Option ID = 17386]
5) Answer the question on the basis of the following passage :

Many people in the recent past saw women body-builders as rebels or deviants, as freaks of nature. This was the case
because most of the people in Western cultures saw genders in terms of differences that divide all humans into two distinct
and mutually exclusive categories: females and males. According to this classification system, females are defined as the
“weaker sex” and femenity is associated with being soft petite, emotional and in need of protection, in fact dominant
standard of feminine beauty over the past century has been associated with vulenerability and weakness. Males on the
other hand, are defined as the stronger sex and mascularity is associated with being hard, strong, rational and defender of
women. In fact masculine attractiveness traditionally has been associated with invulnerability and strength, And many
people simply assume that “Mature intended in that way. Women body builders have challenged this gender logic and in the
process have threatered many people’s ideas about how the world works, According to dominant gender ideology, women
body-builders are unfemine, because they are “too muscular”, and ugly because their bodies are not soft and vulnerable.
But not everyone accepts this ideology. For those seeking alternative definitions of feminity, women bodybuilding has
provided new images that some people find exciting. They like the idea of challenging traditional notions of “Female
frailty” and raising guestions about the biology of gender difference. Women bodybuilding has encouraged this process by
showing that hardness and strength are not exclusively the attributes of males.

Trafafas T F 3Ngr W N 981 96-100 & IW 2

froel T awa & am afzen siE-faeell 91 @erp o vufefaa ama 2 S h wefa W & F 2
o @ it w@wpfa 4 sfuea am dfema @1 [e sEawmsn % ¥9 4 d@d @ 9 9gE oS $l
srem-sem A s arofes fafire ufgen ofn gy 9 arr 21 st wifso vl % sgEr afsensi &)
“FHar fam” % w9 1 ufenfya fem mn R 9 wfeem w1 wE9 winaar; gee WEwns S R gen f
S Bl 21 8 IR 330 3) anaa ¥ W v 9 ufgen B Hwea o wuer) # afgen 1 e | S
TE T @ R S 3 g% 1 weren for o w9 o uitnfta fean w2 a9 drewd w1 gEY 39% w3 09 ;
qeptTa S HigeN e 21 arkad H qEY AMBYU WRrTG ®9 8 Hilz o aogn | weid 81 s §gd § A
w1 WER g W TR wE 2 T w3 T A wwen 217 oiden sidifesti 3 S a9 @ o @ 2 ok
=gd ¥ A & faEw i R gien wR @ Sl 2, @ T @ 21 aeEend e faemu % e afgen
digifaeed sM%AEA (un femine) 3, FifH 3 “Tga SUrQ ‘wiEgwsfa” awu FE9 T & wifE T R
e /Ewme 3 Flig T8 e 21 wig wft dm zm femaw B 9@ om0 S 9 afgena f dwiows
aferst ggd @ 3 T wfgen rdifafegn A w2 oy yqm <6 2 @ o9 @M 3@ 39 3 3Eds TEd ) 9
“ufgen WEr” % gRufE frEm @ T $ vEe S 3 aw v e % o fafvea % aR d gee 3er 3
Afgenatt % TR 734 3 38 vl i 98 fe@n g Ik e @ % waian 3R a6a waa gedl & T 8 8

“Nature intended it that way” Which means male is defined as
(1) Defender of women (2) Weak

(3) Yulnerable {(4) Bold
“gapfa 3 30 3ot w0 § w27 Twe wreed e i fea w9 1 ofenfya e w2

(1)  ufze s (2) HAAR
@ Tz 4 Fre

[Question ID = 4481][Question Description = Q100_PhyEDU_SHAAN_Z21NOV_S51_5hiftl]
1.1

[Option ID = 17387]
2. 2

[Option ID = 17388)
3. 3

[Option ID = 17389]
4. 4

[Option ID = 17390]

Topic:- GP_Setd4 A
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1) The following table embodies details about the number of Personal Computer (PCs) produced
and the percentage of PCs sold by two companies A and B from the year 2014 to 2019, Based

on the data in the table, answer the question

Year-wise Production and Sale of PCs

Year Number of PCs produced by | Precentage (%) of PCs sold
Company (in Thousands) by Company
A B A B
2014 40 45 60% 50%
2015 52 48 75% 40%
2016 60 64 50% 5%
2017 70 62 80% 60%
2018 72 65 40% &0%
2019 90 80 60% 50%

T g, 1-5

it aiferm § @ FAFE — A 3R B R a9 2014 ® 2019 % 9 Fif R fSehn wAe e i

TEAT TS TS 2| A T URd 3UFS S STOE U NS 9 I G |

TS A T TG SCATG A T

G T GRI Ffa T oged il | O g s T TEee O
s (9K W) 1 Hie (%)
A B A B
2014 40 45 60% 50%
2015 52 48 75% 40%
2016 60 64 50% 75%
2017 70 62 80% 60%
2018 72 65 40% 80%
2019 90 80 60% 50%

What is the total number of PCs produced by Company A which remain unseld in all the six years together?

(1) 137400 (2) 144340
(3) 152200 (4) 168000

A BT g TR T vETS H I g Gt 2 91 37 9 7 oFfess i Y

(1) 137400
(3) 152200

(2) 144340
(4) 168000

[Question ID = 4582][Question Description = Q01_GP_21H0OV_52 SHAAN_Shift2]

1. 1 [Option ID = 17791]
2. 2 [Option ID = 17792]
3. 3 [Option ID = 17793]
4. 4 [Option ID = 17794]

2) The following table embodies details about the number of Personal Computer (PCs) produced
and the percentage of PCs sold by two companies A and B from the year 2014 to 2019, Based

on the data in the table, answer the question

Year-wise Production and Sale of PCs

Yaar

N‘nmhn‘r l"l‘F T—"ﬁe 'I"i‘l‘ﬁl"-"'l'll‘":l:h‘.'] }'11?'

Prarentace (%40 nf Plle anld
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Company (in ’I:hnus ands) : b}: C-;:n:i:pany
A B A B
2014 40 45 60% 0%
2015 52 48 75% 40%
2016 60 64 50% 75%
2017 70 62 80% 60%
2018 T4 65 40% 80%
2019 90 80 60% 50%

YT Y. 1-5

Feitea afer § & FuFE — A 3R B gro ad 2014 ¥ 2019 % iw Fifa SR feefia weee sogd

T A0S TS 2| el H WET HHS % YR 9T WY W IW S

UE O T A9aTE SeaTed S Tersh]
ael (A H) 1 St (%)
A B A B
2014 40 45 60% 50%
2015 52 48 75% 40%
2016 60 64 50% 5%
2017 70 62 80% 60%
2018 72 65 40% 80%
2019 90 80 60% 50%

prepp
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What is the ratio of the number of PCs sold by Company B in 2018 to the number of PCs that remained unsold by Company A
in the year 20157

(1)5: 2
(3)5:3

A =t g ad 2015 | F 99 9 U GTAS Hgedl ol gort § B S gRT 2018 T 99 Y IR el

(2) 4 1
(4)4:3

1 9™ T 27

(1)
(3)

e
B:3

(2)
(4)

4:1
e 8

[Question ID = 4583][Question Description = Q02_GP_21N0OV_S52 SHAAN_Shift2]
1. 1 [Option ID = 17795]
2. 2 [Option ID = 17796]
3. 3 [Option ID = 17797]
4, 4 [Option ID = 17798]

3) The following table embodies details about the number of Personal Computer (PCs) produced
and the percentage of PCs sold by two companies A and B from the year 2014 to 2019, Based

on the data in the table, answer the question

Year-wise Production and Sale of PCs

Year Number of PCs produced by | Precentage (%) of PCs sold
Company (in Thousands) by Company
A B A B
2014 40 45 60% 50%
2015 52 48 5% 40%
2016 al) 64 00% 6%
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2017 70 62 80% 60%
2018 72 65 40% 80%
2019 90 80 60% 50%

Y g, 1-5

it aifer § o FAFE — A 3R B R 99 2014 ® 2019 % = Fif o fehn wAa e i
T TS TS 2| AT W YR 3TFE ¥ STOR K WY H I S ;

TS A T TG SCATG A T

G O g1 Ffa s oged i | U g s T TEee O
TEm (FR ) 71 i (%)
A B A B
2014 40 45 60% 50%
2015 52 48 75% 40%
2016 60 64 50% 75%
2017 70 62 80% 60%
2018 72 65 40% 80%
2019 90 80 60% 50%

What is the difference between the total number of PCs sold and the total number of unsold PCs of Company B in all the six

years together?

(1) 68700
(3) 72100

(2) 70500
(4) 73800

T2 A9 § B ool % R oft smfis gda #ogedl i g o i e 27

(1) 68700
(3) 72100

(%) 70500
(4) 73800

[Question ID = 4584][Question Description = Q03_GP_21NOV_52_SHAAN_Shift2]

1.
2.
3.
4.

1 [Option ID = 17799]
2 [Option ID = 17800]
3 [Option ID = 17801]
4 [Option ID = 17802]

4) The following table embodies details about the number of Personal Computer (PCs) produced
and the percentage of PCs sold by two companies A and B from the year 2014 to 2019, Based

on the data in the table, answer the question

Year-wise Production and Sale of PCs

Year Number of PCs produced by | Precentage (%) of PCs sold
Company (in Thousands) by Company
A B A B
2014 40 45 60% 50%
2015 52 48 75% 40%
2016 60 64 50% T5%
2017 70 62 80% 60%
2018 72 65 40% &0%
2019 90 80 60% 50%
I ", 1-5
~ e o NN o . A Y ST 3 . S N -
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FUrEsl AR T fal MOl T Dk SN LY Rt MY AWLA 1 LWL F M MBS 1T s AL TN "‘I'i"""-z\(;ﬁl =11
T AT TS 2| Wil H WET S SER 9T WY T IW S
e (791 ) k1 gt (%)
A B A B

2014 40 45 60% 50%

2015 52 48 T5% 40%

2016 60 64 50% 5%

2017 70 62 80% 60%

2018 72 65 40% 80%

2019 90 80 60% 50%

prepp
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The number of PCs sold by Company A in 2015 is what percentage of the number of PCs sold by Company B in the year

20197

(1) 82.5%  (2) 87.5%
(3) 90%  (4) 97.5%

A %0l g 2015 § o9 Y GEAE Soged B et wear B et g 2019 # S g WG wogedl o

o wfdza 27

(1) 82.5%
(3) 90%

(2) 87.0%
4) 97.5%

[Question ID = 4585][Question Description = Q04_GP_21NOV_52_SHAAN_Shift2]

1. 1 [Option ID = 17803]
2. 2 [Option ID = 17804]
3. 3 [Option ID = 17805]
4. 4 [Option ID = 17806

5) The following table embodies details about the number of Personal Computer (PCs) produced
and the percentage of PCs sold by two companies A and B from the year 2014 to 2019, Based

on the data in the table, answer the question

Year-wise Production and Sale of PCs

Year Number of PCs produced by | Precentage (%) of PCs sold
Company (in Thousands) by Company
A B A B
2014 40 45 60% 50%
2015 52 48 75% 40%
2016 60 64 50% 5%
2017 70 62 80% 60%
2018 72 65 40% &0%
2019 90 80 60% 50%

Y g, 1-5

Fritsea anfert ¥ & FaFEl — A 3R B gRT a9 2014 ¥ 2019 % = Fifa R feein wRe Foge i
Tt 2ilE TS 2| AR W Wed 3PS % HTHE 9T U9 T IR 2

UE O T a9aTE SeaTe S Tersh]

i 4

F R W9 T WA F

RSV G SURNIPN i 37 iy
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ST L ot ) UL RN I

A B A B
2014 40 45 60% 50%
2015 52 48 75% 40%
2016 60 64 50% 5%
2017 70 62 80% 60%
2018 72 65 40% 80%
2019 90 80 60% 50%

The number of PCs sold by Company A in year 2017 is what percentage more than the number of PCs unsold by Company B
in year 20167

(1) 250%>  (2) 200%
(3) 120%  (4) 80%

ad 2017 § A &I g 99 MU gEAR Heged i we ad 2016 F B HA g T S S W6 THAA Fl

F g 9 e gt s 27
(1) 250% (2) 200%
(3) 120% (4) 80%

[Question ID = 4586][Question Description = Q05_GP_21H0OV_S52 SHAAN_Shift2]
1. 1 [Option ID = 17807]
2. 2 [Opticn ID = 17808]
3. 3 [Option ID = 17809]
4, 4 [Option ID = 17810]

Topic:- GP_Set4_B

1) Which level of teaching is also designated as ‘exploratory understanding’?

(1) Memory level (2) Understanding level
(3) Reflective level  (4) Autonomous development level

ST = e Tax =1 Tna) otesy Y e STar 27

1 Fow (2) sEEE TR
3 fEfi-m == (4 = e

[Question ID = 4587][Question Description = Q06_GP_21NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 17811]
2. 2 [Option ID = 17812]
3. 3 [Option ID = 17813]
4. 4 [Option ID = 17814)

2) Identify the characteristics of ‘Field-independent learner’
(A) Seeks guidance and demonstrations from teacher

(B) Focuses on details of curriculum materials

(C) Likes to compete

(D) Relates concepts to personal experience

(E) Can organize imformation by himself or herself

Choose the correct answer from the options given below :

(1) (A), (B) and (C}only  (2) (A), (C) and (D) only
(3) (B), (C) and (E) only  (4) (C), (D) and (E} only

HA-Teh AfeFEeal i fasramd §
(A) Toers o TRt Frem o WA WERE G STHen AT 2

(B) urew-mmdl s gEmaratt W A shigd Wl 2

(C) wieead! F=1 TEe =@ 2

(D) FEERONS ol FAfthh IS w2
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(E) oA %t T4 SHGedd F qFal /T 81

+ra fiu 7o frmedt 4 @ wE s W 9 AR

(1)  =FEd (A), (B) 3R (C)

(2)  wAH (A), (C) 3 (D)

(3  ad (B), (C) 3 (E)

(4 %Fd (C), (D) I (E)
[Question ID = 4588][Question Description = Q07_GP_21NOV_S2_SHAAN_Shift2]
. 1 [Option ID = 17815]
2 [Option ID = 17816

]
3 [Option ID = 17817]
. 4 [Option ID = 17818]

oW =

3) Match List | with List Il

List |  List Il

(Teaching Method) (Examples)

(A) Monologic teaching method (1) Cybernetics and computer-aided instruction
(B) Dialogic teaching method (Il} Case studies and tutorials

(C) Action based teaching method  (lll) Team teaching and demonstration

(D) Self study based teaching method (IV) Simulation and role playing

Choose the correct answer from the options given below :

(1) (A)-(11), (B)-(N1), (C)-(1), (D)-(IV) (2} (A)-(ll1}, (B)-(N), (C)-(IV), (D)-(I)
(3) (A}-(1), (B)-(1V), (C)-(), (D)-(1}  (4) (A)-(IV), (B)-(1}, (C)-(IN), (D}-(1I)

T=ft-1 % = g=i-11 = fiem $ifsm

-1 A1
(Rregor farfér) (3arEn)
(A) Tt e (D arewiferd it FgR-Gasy SRy
(B) da e Y 1) =afE e TR ergftnem
(C) wE-sneia fem f&fy (IT) == e &7 wemh
(D) TAEAT-3NATE ST AV) AT SR g e

A=t fou 1w fameat A 9 ot s @ = il

1) @-dn, B-dI), ©)-0). (D)-aAV)
@  A-dID. B-dD. (O)-AV). D)D)
3 A-@). B)-AV), (C)-1I), (D)-AIL)
@  (A-AV). B-O, ©)-dII). (D)-1D)

[Question ID = 4589][Question Description = Q08_GP_21NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 17819]
2. 2 [Option ID = 17820]
3. 3 [Option ID = 17821]
4. 4 [Option ID = 17822)

4) Given below are two statements :

prepp

Your Personal Exams Guide

Statement | : Engagement in the learning process refers to the amount of time students devote to learning in the classroom,

Statement Il : Formative assessment is formal whereas summative assessment is informal.
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement |l are true. (2) Both Statement | and Statement 1l are false.
(3) Statement | is true but Statement 1l is false, (4) Statement | is false but Statement Il is true,

= 2 9 R w £ .

w9 (D) : FAter wlEar | goadn = gey e o At g farmeli g fafeifea gaa 4 2)
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v (D) ; fafvens e siTEiE Bl § 6 GheeE STy SHI9E Biat 2|

IUUTH Y % I 1, 9 3 e e ¥ O ge Sat % 9o it

(1)

2)

(3)

(4)

o (1) 3t (II) 3 &ed &

FoA (1) 3T (ID) 3T 37T 3

FYT (1) T 2, Al F9 (1) 319 2

Fo (1) 29 2, A o (1) T B

[Question ID = 4590][Question Description = Q09_GP_21NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 17823]
2. 2 [Option ID = 17824]
3. 3 [Option ID = 17825]
4. 4 [Option ID = 17826]

%) Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion (A) : Teaching support system as provided by ICT based gadgets is intended to optimise learning and interest in
learning material.

Reasons (R) : Any meaningful support in teaching has to be instrumental in augmenting learning conditions and outcomes.
In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R} is the correct explanation of (A). (2) Both {A) and (R) are correct but (R) is NOT
the correct explanation of (A).
(3) (A) is correct but (R) is not correct. (4) {(A) is not correct but (R) is correct.

o o fig e E : uF a1fiEeE (Assertion A) ¥ W i fafaw § 9t gE0 3w FRW (Reason R) %

w9

SRR (A) ¢ FTedidi-ananiid 92 | TUEYEsy IS GEEdl YUt =1 e Al i sAiErm

armfy 7 =iy % Asfye g 2

%o (R) e weHl g ards-wgrEa wneH, stirm Fi afifeataat sk ofomt & w@aeH o

Zqarll g =riEa)

SUIR YAl h ST H, e 5T o famedt ®§ ¥ aeE SUI ST wEA Fii

(1)
(2)
(3
(4)

(A) 3R (R) 2F1 @t € ST (R), (A) 1 =t e &

(A) 3t (R) 21 widt £, @feT R), (A) B wt = 76 2
(A) W&l 2, e (R) w&t 461 2

(A) TF TE 3, 9f R) 7 2

[Question ID = 4591][Question Description = Q10_GP_21NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 17827]
2. 2 [Option ID = 17828]
3. 3 [Option ID = 17829]
4. 4 [Option ID = 17830]

6) Data of research take the forms of words or pictures with the researcher as the key instrument in which of the following

studies?

(1) Participant observation based Studies  (2) Ex Post Facto Studies
(3) Experimental Studies (4) Descriptive survey Studies

freifea 9 o frg sromm ¥ oYY % S0 Y UTEH % © H Yeg 219 U 1 ¥ A dar 8¢

(1)
(3)

el dem - sieeE (2) IR AT
SRR AR (4) faooones gaum sTeaad

[Question ID = 4592][Question Description = Q11_GP_21H0OV_52 SHAAN_Shift2]
1. 1 [Option ID = 17831]
| 2. 2 [Option ID = 17832]
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| 3. 3 [Option ID = 17833]
4. 4 [Option ID = 17834]

7) Identify the characteristic features of ‘Hypothetico-deductive research’ paradigm :

(A) Researcher is detached from the study to avoid bias

(B) Researcher becomes immersed in the research situation present or past

(€) The researcher seeks to establish relationships and explains causes of changes in measured social facts
(D) Actual settings are the direct source of data

(E) An attempt is made to set up universal context free generalizations.

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only  (2) (B), (C) and (D) only
(3) (A), (C) and (E) only  (4) (C), (D) and (E) only

TR -TdIE FeA W ey i ger emaren w fafga it

(A) U9 U sE ok T, SIgEUEERGl SETEH O SEIR B Si B

(B)  IrgEueat sgEad affufa & fem g s ® - O 97 adum A g sigar g

(C)  STEUFhdl Ase TG HE Tedl 2 K Aifud amrtaes a2l § Gfa giads % Hren 1 oare
T 2

(D) =wataw wfefufot et % wee wia it F

(E) WEYE g T % gfaeme o 5= e s 2

H= fau e el § d WEl A 1 999 Shifey

(1)  Fas (A), B) R (O)

(2) = (B). (C) R (D)

(3)  Fa (A). (C) IR (E)

(4) =« (C). (D) 9k (B)
[Question ID = 4593][Question Description = Q12_GP_21NOV_52_SHAAN_Shift2]
. 1 [Option ID = 17835]
. 2 [Option ID = 17836]

. 3 [Option ID = 17837]
4 [Option 1D = 17838]

oL B2

8) Match List | with List Il

List1 Listll

Research Types Goal of Research

(A) Fundamental Research (I} Appraising impact of interventions

(B) Applied Research  (lI) Amelicration of a given situation

(C) Action of Research  (lll) Exploring applicability of already established principles
(D) Evaluative Research  (IV) Advancing the corpus of knowledge in a field
Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(I), (C)-(ND), (D)-(IV)  (2) (A)-(IV}, (B)-(l), (C}-(1), (D)-(1)
(3) (A)-(lID), (B)-(IV}), (C)-(I), (D)-(I)  (4) (A)-(lI}, (B)-(D), (C)-(IV), (D)-(1I1}

gefi-1 % @ gei-11 = faem Hifo
g1 g1
(A) wifers sgEam () ==add % T9E F A
(B) =HIEd FTHGH (I wzw affeafa 4 gan s
(C) Trmers smEeaH (1) ve wonfia fagral <6 W= =1 s
(D) WA UTF AFHEH IV) aa-famw § 3W =9 1 g9ga

4 fin T fwewl @ ® 9 3 w1 99 i

1 @-D. B)-AD), (C)-(11). (D)-IV)
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\4) LAJ-LLV ), D)=L, ()= L), (L)-0L)
(3)  @-dID), B)-AV). (O)-@). (D)-dI)
(4)  @-dD. B)-@). (O)-aV), (D)-AII)
[Question ID = 4594][Question Description = Q13_GP_21NOV_S$2_SHAAN_Shift2]
1. 1 [Option ID = 17839]
2. 2 [Option ID = 17840

]
3. 3 [Option ID = 17841]
4. 4 [Option ID = 17842]

9) Given below are two statements :

Statement | : At every step of research genuineness is to be vouched. Hence the issue of research ethics becomes
germane,

Statement Il : ICT application in research is supportive and facilitative rather than mandatory and absolute.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct. (2) Both Statement | and Statement Il are incorrect.
(3) Statement | is correct but Statement Il is incorrect, (4} Statement | is incorrect but Statement Il is correct,

4= 3w fRu w £

% (D) HIGGH % Tcdeh =00 H aniasdr & ufd e sAw wit adl 81 sraua egmaEt 3
shy-Fifeara = fawa seeaw 2 a2

v (1) : HTEUT | SEHIS STHIAM GRdhRl iR gareme 2, 7 5 sihad ot Frual

IUITh YA & ATk H, i 3T g fasent d @ ged 39w 3 A = SR

(1) = () 3 AD 3t 78 &
@ F () S (D) I e |
(3) =R () S 2, S Wy (I1) e 2
@ o (1) T B, AR e (D) wE 2

[Question ID = 4595][Question Description = Q14_GP_21NOV_52_SHAAN_Shift2]
. 1 [Option ID = 17843]
2 [Option ID = 17844]
3 [Option ID = 17845]
. 4 [Option ID = 17846]

o

10) Given below are two statements : One is labelled as Assertion A and the other is labeled as Reason R.
Assertion (A) : Research Hypothesis (H1) cannot be directly verified.
Reasons (R) : Null Hypothesis (HO) is helpful in making a claim by the researcher that his/her findings are not fortuitous or by

chance.
In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).
(3) {(A) is correct but (R) is not correct. (4) (A) is not correct but (R} is correct.

H9 3 o fQu m F : oF TR (Assertion A) % W H fafigd ® @ 780 3uF w9 (Reason R) F
®qH :
AR (A) e imseaal (Hy) geaeaa: dearfua 781 =il =1 wehdl|

R0 (R) : et ftspen (Ho) sHuuieral ® 54 3 § dge widl & 76 sue oy afomm
STHIETF 19T TATES T8 2 |

SULRE BY % s |, 9 T e faredl U gwg SUIE SR =EA S

(1)  (A) 3 (R) g1 w@t § 3 (R), (A) h wd = g
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2) (A ARR) g1 T 2, df (R), (A) i gt o 78 2
(3 Q) udH e, | R) 9dt 16 2
4 (A TE TE 2, e R) w9 2

[Question ID = 4596][Question Description = Q15_GP_21H0OV_52 SHAAN_Shift2]
1 [Option ID = 17847]
2 [Option ID = 17848]
3 [Option ID = 17849]
4 [Option ID = 17850]

bl B

11) Which type of Communication is most difficult in gearing message to an audience?

(1) Interpersonal Communication (2} Mass Communication
(3) Intrapersonal Communication (4) Group Communication

YT a%h ThE YR &+ WS Bl GHX Yoo fheg 37

(1)  sAgdafrs gur (2) < §ER
(3)  Agute® gaR (4) U AR

[Question ID = 4597][Question Description = Q16_GP_21NOV_S$2_SHAAN_Shift2]
1. 1 [Option ID = 17851]
2. 2 [Option ID = 17852]
3. 3 [Option ID = 17853]
4. 4 [Option ID = 17854]

12) Given below are two statements ;
Statement | ;: Audience noise is potent when the message is controversial.

Statement Il ; It is impossible for any communication to convert an audience from one viewpoint to another.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.
=t g % e e E
M (D e R 7 a JareT 1 weed 9ed o 9 2l
% (1D : g i frem-gfe o ufads frdl o Tem o smwa B 2

3T FE F oTAE |, A f2u e ferewl # ® wE ST W 999 Hie

(L) %o @ R AD I T ¥
@ e (D) S I I e B
(@) A (1) GeA 2, A w9 (D) 39T 2
@  wm () s 2, A T [ 773 3

[Question ID = 4598][Question Description = Q17_GP_21NOV_52_SHAAN_Shift2]
. 1 [Option ID = 17855]
. 2 [Option ID = 17856]
. 3 [Option ID = 17857]
4 [Option ID = 17858)

oLk B2

13) Given below are two statements : One is labelled as Assertion A and the other is labeled as Reason R.
Assertion (A) : Research has shown that the two-step flow theory is oversimplified for every field of interest.

Reasons (R) : People tend to make great use of the media now in their respective interest.

In the light of the above statements, Choose the most appropriate answer from the options given below :

prepp
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(1) Both {A) and (R} are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT

the correct explanation of (A).
(3) {(A) is correct but (R) is not correct. (4) (A) is not correct but (R} is correct.

I g wem fow e 3w orfumem (AsseﬁinnA}%EEﬂﬁ%F@H%ﬁ?@Tlaﬂ%m (Reason R) &

-
I H
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SHIHEA (A) HAYHE o WE EC:HT o I s SIE-&1 =% U [g-TiUA N9 1Hgl
FAfaeReAteRT 2R T B
0 (R) : a siw ot wfa d Hifga = wrh swE e = 2

SRR AT <6 AT B, 19 i fomredl ¥ O yed SUHE ST R A i

1) (@) ¥R ®) I T B &R (R). (A) B @ =wen

@ @ R R) A T E, 9 ®). Q) B 7 e T 2
@ (@ wE, WA (R) W T R

@ @ uRE R, 9 ® ud g

[Question ID = 4599][Question Description = Q18_GP_21NOV_52_SHAAN_Shift2]
. 1 [Option ID = 17859]
2 [Option ID = 17860]
3 [Option ID = 17861]
. 4 [Option ID = 17862]

P

=l
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14) Physical barriers to communication are rapidly disappearing, but psychological obstacles remain owing to which of the

following?

(A) By formal language

(B) By visual presentation

(C) By use of technology

(D) By emotional appeal

(E) By cultural attitude

Choose the correct answer from the options given below :

(1) (A), (D) and (E) only {2} (A), (B) and (C) only
(3) (B}, (C) and (D) only  (4) (C), (D) and (E) only

gem "t Hifgw arand ot ° foew @ & € fq Fenfea 4 € frag dag aaasnfe oraaE 9w £7

(A) oo amr |
B) 3w wgha A
(C)  wtaifiehis e 4

(D)  WIEHAAS A |
(E) wwsios sfugha o
e fau U famedt A O wgt SOt 9ad i

(1) %A= (4), (D) 3 (E)
Q) ad (4), (B) 3 (C)
(3 %= (B), (C) ¥R (D)
4 & (C), (D) I (B)

[Question ID = 4600][Question Description = Q19_GP_21NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 17863]
2. 2 [Option ID = 17864]
3. 3 [Option ID = 17865]
4, 4 [Option ID = 17866]

15) Match List | with List Il.

List 1  Listll

Elements of Communication Characteristic feature

(A) Source (I) Means used to convey the message

(B) Receiver (1) Set of verbal and nonverbal cues from a source
(C) Message (ll1) A person who interprets the message

(D) Channel  (IV) A person or an event which provides verbal/non verbal cues.
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Choose the correct answer from the options given below :

gi-1 % wy -1+ fiem Hifse
-1 711
&) @ (D) w2 Wit 3 5g T AreA
(B) wmT=n (I) «ia o arf=er it ie-anfoes ga
(C) wem (I[D) ®ew =i ST FAare] aiE
(D) <Aa (IV) =fes fi-anfeess dsba <3 =t =afke 19
HaAT
= fou e fwedi § € @ I 9T Hifdm

(1) (A)-aD, (B)-(). (C)-(IV), (D)-(I1I)

(2) (A)-(D. (B)-(II). (C)-(IIL}, (D)-AV)

3) (A)-AID). (B)-AV). (O)-(D). M)-(ID

(4) (A)-IV), (B)-(I1I), (C)-(IL), (D)-(D)
[Question ID = 4601][Question Description = Q20_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17867)
2. 2 [Option ID = 17868

]
3. 3 [Option ID = 17869]
4. 4 [Option ID = 17870]

16) If the selling price is doubled, the profit triples. What would be the profit percentage?

(1) 25%  (2) 50%
(3) 100%  (4) 125%

3R forsra W AR B 9 A REr B S e w8 e

(1) 25% (2) 50%
(3)  100% (4) 125%

[Question ID = 4602][Question Description = Q21_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17871]
2. 2 [Option ID = 17872]
3. 3 [Option ID = 17873]
4. 4 [Option ID = 17874]

17) Mohan buys a second hand television at a cost of Rs. 7,500 and spends Rs. 500 on its repair. Later on he sells it at a
cost of Rs. 9,000. How much profit he gets in this process?

(1) 7.5%  (2) 12.5%

(3) 20%  (4) 25%

AqrE 4 7,500/ wE # wE @A eAifaem willer @it sweh Ao W s00/- w9¢ wH fRel w2 A, 39
9,000/ - ¥UC # s faam| sueh @ty = wfewa foham 27

(1) 7.5% (2) 12.5%
(3) 20% (4) 25%

[Question ID = 4603][Question Description = Q22_GP_21NOV_S$2_SHAAN_Shift2]
. 1 [Option ID = 17875)

2 [Option ID = 17876]
. 3 [Option ID = 17877)

4 [Opticn ID = 17878]

R

18) The cost price of 10 items is same as the selling price of N items. If the profit is 25%, then the value of N is?

(1) 8%  (2) 16%
(3) 20%  (4) 25%

IR 10 TGN 1 A e N Fgeii & fasra-ea = ser ¢ ok A9 25% & af N o goa Ja1 2 ¢
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() 8% (2 16%
(3) 20% (4 25%

[Question ID = 4604][Question Description = Q23_GP_21NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 17879]
2. 2 [Option ID = 17880]
3. 3 [Option ID = 17881]
4. 4 [Option ID = 17882)

19) The average age of A, B and C is 25 years. If the average age of A and B is 22 and that of B and C is 23. Then what is
the age of B?

(1) 15 years (2) 20 years
(3) 25 years  (4) 30 years

ABRCH maSH 2 WA TR A MBI fmasw 2 W sk Bam CH 23 3@ =, @1 BH

I FR?
(1) 1594 (2) 2099
(3 25@d (4 30a9

[Question ID = 4605][Question Description = Q24_GP_21NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 17883]
2. 2 [Option ID = 17884]
3. 3 [Option ID = 17885]
4. 4 [Option ID = 17886)

20) In a cricket match, in the first 20 overs run rate was 4.5. What should be the run rate in the remaining 30 overs to
meet a target of 3257

(1) 6.24 (2) 7.83
(3)5.94 (4)8.21

TR Tt firre ®9 | wYT 20 o 1 W SUTE 4.5 B, a@F 325 W1 €8 WE % o1 99 30 N o
T sht 2L 1 BT =iee ?

(1) 6.24 (2) 7.83
3y 594 (4 8.21

[Question ID = 4606][Question Description = Q25_GP_21NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 17887]
2. 2 [Option ID = 17888]
3. 3 [Option ID = 17889]
4. 4 [Option ID = 17890]

21) Which of the following statements is true regarding two contrary propositions?

(1) They can both be true (2} The truth of one entails the falsity of the other
(3) They cannot both be false  (4) The falsity of one entails the truth of the other

a4 Tt vt = @eig 5 Fewitea @ 8@ - ofiemm o 27

(1) A & 2w Bl

(2) o hl GeId QAL S STl B SRS Hl 2

3 3 e T E

@) U SR 3E Ao W T B g

[Question ID = 4610][Question Description = Q29_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17903]
2. 2 [Option ID = 17904]
3. 3 [Option ID = 17905]
4. 4 [Option ID = 17906]

22) Given below are two statements :

Statement | ; An informal fallacy is one that may be identified through mere inspection of the form or structure of an
argument.

Statement Il : Formal fallacy is one that can be detected only through analysis of the content of the argument.

In the light of the above statements, Choose the most appropriate answer from the options given below :
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(1) Both Statement | and Statement Il are correct. {2) Both Statement | and Statement Il are incorrect.

(3) Statement | is correct but Statement Il is incorrect, (4) Statement | is incorrect but Statement Il is correct,
H= gt =ym faw U §
9 () SIS EcaTqI™ 9% & Foee 70 7% & aed S1961 990 & H0a0 oF 9 g

fr < T 2

T (D) : afvEies T 98 3 e weem o f fauw-awg % fvemw 5w oS
Tl 2

ST YA b Nl H, T 3w U e 0 9 qog 3w S & 999 iy

() A @) 3 D) 3 @ E
@) w3 (D) S e B
3)  wu O) W B, A wem (D) e R
@ w0 T 7, A F (1D e E

[Question ID = 4611][Question Description = Q30_GP_21NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 17907]
2. 2 [Option ID = 17908]
3, 3 [Option ID = 17909]
4. 4 [Option ID = 17910]

23) Which of the following statements about blogs in network communication is True?

(1) The content of a blog can be edited by anyone. (2) A blog is a synchronous communication system that allows people
to chat in real-time.

(3) A blog consists of posts in reverse chronological order. (4} A blog is a history of web pages that you have visited,
maintained by an ISP.

Jea TER A, s & 91 ¥ Frfea § 8@ F-01 $99 9 27

(1) A ki grmft = i oft gurfem o g 2

(2) AT Tk GESg ER WOTelt B S Wi aeen T < gl g w2

(3) =P o Wiee faudia wenen | 2 e

(4) = U de gei o sfoe B 2 o e Fan @ oii fome s sngeadi @ g 2

[Question ID = 4612][Question Description = Q31_GP_21NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 17%811]
2. 2 [Option ID = 17912]
3. 3 [Option ID = 17913]
4. 4 [Option ID = 17914]

24) Identify the correct order of the following INTEL processors in the increasing order of speed.
(A) 80486

(B) 8085

(C) Dual Core

(D) Pentium-lI|

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D}  (2) (B), (A), (D), (C)
(3) (A), (B), (D), (C} (4} (A), (), (D), (B)

= ¥ Pt 70w % 3 gadt 1fd % %y sgaftg it

(A) 80486
(B) 8085

(C) I HR
(D) dfeEm-III

I fou 7o foredl § @ TE ST T O9E i
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L @.B). )1
@ B A). D) ©
3 @ 3. D). ©
@ @& ©). D). B

[Question ID = 4613][Question Description = Q32_GP_21NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 17915]
2. 2 [Option ID = 17916]
3. 3 [Option ID = 17917
4. 4 [Option ID = 17918]

25) Given below are two statements

Statement | : Bus, Ring, Star, and Mesh are types of network protocols.

Statement Il : A short-range radio communication standard that transmits data over short distances upto approximately 30
feet is known as Bluetooth.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement |l are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

=949 (I) 54, for, W 3R A9 Aeaek uieiniE * YR B
% (1D : e 30 Fe 7 i A 3T IR T 91 A (A 6 Howgy B F9 A

ST AT B

SUIRh YA % ol °, J19 2y e fmeat § | wd sor o wmA Al

(1) = (D) 3t dD) 39! 9T &
@) wE (1) AR 1D g 1EeT 8
@ ww () g3 2, afF w9 D 3T 2

(4)  wu (1) 3 2, o e (D) ueg 2

[Question ID = 4614][Question Description = Q33_GP_21NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 17919]
2. 2 [Option ID = 17920]
3. 3 [Option ID = 17921]
4. 4 [Option ID = 17922]

26) Which of the following group of statements in the context of Information Technology (IT) is correct?
(A) Mouse, Keyboard, and Plotter are all input devices.

(B) Unix, Windows, and Linux are all operating systems.

(C) Register, Cache Memory, and Hard Disk are all memory modules.

(D) Montior, Printer, and Scanner are all output devices.

Choose the correct answer from the options given below :

(1) (A) and (B} only (2) (A) and (D) only
(3) (C) and (D) only  (4) (B) and (C) only
T Tt % uteles ®, Fentea § ® ®iF-a awer 9ug w6 87
(A) W=, -9 I il gYe IUH B
B) i, fem o fom SR fwen 3
(©) Wrem, F9 AW it 7S fowm 39 aisgw 2

(D) TRy, izt it TR 213z Iue g
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i faw et § @ w9 SO 9Ae Fifeo

(1) =3 (A) AR (B)
(2) A (A) IR (D)
(3) %A (C) 3R (D)

(4  Faw (B) 3 (C)

[Question ID = 4615][Question Description = Q34_GP_21NOV_S2_SHAAN_Shift2]
. 1 [Option ID = 17923]
2 [Option ID = 17924]
3 [Option ID = 17925]
. 4 [Option ID = 17926]

oW

27) Match List | with List Il

List 1  Listll

(Computer Terms) (Description)

(A) Processor  {l) Part that runs executable programs

(B) RAM  (ll) Part that stores files permanently

(C) Hard Disk  (Ill) Part that stores instructions and data temporarily for use
(D} Compiler (V) Part that translates source program to executable program
Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(IN), (C)-(M), (D)-(IV} (2} (A)-(IV), (B)-(IN), (C)-(N), (D)-(1)
(3) (A)-(), (B)-(1), (C)-(l), (D)-(IV} (4} (A)-(1), (B)-(I1}, (C)-(IV}, (D)-(IN1)

FEh-1 % T gH-11 =1 fem Hifsre
A1 T-II

Q) vEE () TFfioRse W Gefad St 2w

(B) = AD) HIEel A T T ® TR wEaren G

) =% e (11D <t oii ser =1 swm * fog sremd =g
¥ =R wEaen wem

(D) TR IV) &ra JE R T S
Haren faew

#fr2t fou o fomewl © ® wE) 3 W I FINT ;

(1) (AQ)-(D). (B)-1II), (C)-(ID. (D)-AV)

(2) (A)-(IV), (B)-(I11), (C)-(IL), (D)-(T)

(3) (A)-(ID), (B)-(I). (CO)-(I1L). (D)-AV)

(4) A)-D). (B)-AI). (C)-(IV), (D)-I1II)
[Question ID = 4616][Question Description = Q35_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17927]
2. 2 [Option ID = 17928]

3. 3 [Option ID = 17929]
4. 4 [Option ID = 17930]

28) A coal fired thermal power plant has an efficiency of 35%. The electricity from the power plant is used entirely for
lighting purposes with average efficiency of 20%. What is the overall efficiency of conversion form coal to lighting?

(1) 15%  (2) 55%
(3) 70%  (4) 7%

U AT amiaed A il gaa 35% 2 frga wE < ql ot @ = 20% i ofoa g
=% W19 WRISHIS o TEISH § BT 81 BiEe % el § Suyacer i HAE 2 o B 7

(1) 15% (2) 55%

(3) 70% 4 7%
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[Question ID = 4617][Question Description = Q36_GP_21NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 17931]
2. 2 [Option ID = 17932]
3, 3 [Option ID = 17933]
4, 4 [Option ID = 17934]

29) As per Sustainable Development Goal 3, one of the targets is to reduce under-5 mortality per 1000 live births to at
least as low as

(1) 50 (2) 40
(3) 25> (4) 15

waoita fasm @e-3 % SFFER, TF @sA Uid 1000 Sifod T | 5 a9 | %9 30 & Sl H gegad F
eI § F e e S 27

(1 50 (2) 40
(3 25 (4) 15

[Question ID = 4619][Question Description = Q38_GP_21NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 17939]
2. 2 [Option ID = 17940]
3. 3 [Option ID = 17941]
4. 4 [Option ID = 17942)

30) In a polluted urban area, which of the following constituents of photochemical smog has the least concentration (parts
per billion by volume)?

(1) CO Carbon monoxide  (2) Nitrogen dioxide
(3) Hydrocarbons (without methane)  (4) Ozone

wEfia Wl & H, Ug-TrE WA A1 geh Ted A AE (QIRET W Ui oRe S0 H o) W w8

(1)  CO s AHiTwEEs (2) HAISZISH SEHHAIEE
(3)  wgiEA (fumta) 4) @H

[Question ID = 4620][Question Description = Q39_GP_21NOV_S2_SHAAN_Shift2]
. 1 [Option ID = 17943

2 [Option ID = 17944]
. 3 [Option ID = 17945]

4 [Option ID = 17946]

R

31) For drinking and irrigation purposes, the availability of suitable water out of earth’s total water supplies is about less
than

(M 1%  (2) 5%
(3) 6%  (4) 10%

ﬁaaﬁtﬁvé%ﬁaﬁ%@, ’{ﬁﬁ@aﬁﬁﬁﬁﬁdqgm I i ITABYAT 2

(1) 1% (2 5%
(3 6% 4) 10%

[Question ID = 4621][Question Description = Q40_GP_21H0OV_S52_ SHAAN_Shift2]
1. 1 [Option ID = 17947]
2. 2 [Option ID = 17948]
3. 3 [Option ID = 17949]
4. 4 [Option ID = 17950]

32) The Indian council of Social Science Research was established for ;
(A) strengthening different disciplines

(B) promoting researches in social science

(C) enhancing quality of social science as a discipline

(D) providing a platform for discussion on social scientists’ concerns

(E) supporting seminars and conferences organized by Universities
Choose the correct answer from the options given below :

(1) (A) and (C) only (2} (B) and (C) only
(3) (A) and (B) only  {4) (B) and (D) only

TRt T fome stgEem aiteg i T Es o
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[Question ID = 4622][Question Description = Q41_GP_21NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 17951]
2. 2 [Option ID = 17952]
3. 3 [Option ID = 17953]
4. 4 [Option ID = 17954]

33) The first regulatory body in higher education in India was set up under the rubric of :

(1) UGC  (2) mcl
(3) BCl  (4) AICTE

g ¥ 3= e gedf wem Fames e A v e sita B e

(1) s e s s (2) uHdiHTE
(8)  diteTs (4) TSR

[Question ID = 4623][Question Description = Q42_GP_21NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 17955]
2. 2 [Option ID = 17956]
3, 3 [Option ID = 17957]
4. 4 [Option ID = 17958)

34) Who among the following was the Chairman of University Education Commission (1948)?

(1) Dr. D.S. Kothari  (2) Maulana Abul Kalam Azad
(3) Dr. Zakir Hussain  {(4) Dr. 5. Radhakrishnan

feryaferamer fran s (1948) =1 e Fenfeg 4 @ =i ar?

(1) s €. . #ed (2) WA TS B G
(3) 7. AR g (4) I T\, THEIH

[Question ID = 4624][Question Description = Q43_GP_21H0OV_S52_ SHAAN_Shift2]
1. 1 [Option ID = 17959]
2. 2 [Option ID = 17960]
3. 3 [Option ID = 17961]
4. 4 [Option ID = 17962]
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35) For maintenance of standards of teaching examination and research and coordination of University Education which of

the following section of UGC act should be referred to?

(1) Section 28  (2) Section 25
(3) Section 15  (4) Section 12

ferzafermem smam smEm sifafem $ fenftea d o e g = fatmes fan 5 e, e,
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[Question ID = 4625][Question Description = Q44_GP_21NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 17963]
2. 2 [Option ID = 17964]
3. 3 [Option ID = 17965]
4, 4 [Option ID = 17966]

36) The NEP 2020 prioritises the increase in the GER in preschool to secondary level by 100% by the year
(1) 2025 (2) 2030
(3) 2035 (4) 2040

73 fonem fifa-2020 4, forrem-9d o Mo TR A § AR H 100% g = A7 frm a8 7= F fau
@ TRy
(1) 2025 (%) 2030
(3) 2035 (4) 2040
[Question ID = 4626][Question Description = Q45_GP_21H0OV_52 SHAAN_Shift2]
1. 1 [Option ID = 17967]
2. 2 [Option ID = 17968]

3. 3 [Option ID = 17969
4, 4 [Option ID = 17970]

37) Which fallacy is committed in the argument — “Sound 1s a quality because it is visible™?
(1) Asryasiddha (2) Vyapyatvasiddha

(3) Svarupasiddha {4) adhyasiddha

“ef Teh T & FAITH 98 STIHH &7 FYT ¥ FI-T1 ST 77

1) smumETEg @) =ATHETYg
(3) e (4) wEATEg

[Question ID = 4627][Question Description = Q26_GP_21NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 17971]
2. 2 [Option ID = 17972]
3. 3 [Option ID = 17973]
4. 4 [Option ID = 17974]

28] Which kind of inference is illustrated when one argues that sound must be a quality because
it cannot be a substance or an activity or a relation and so on?

(1) Segﬁvata (2) Purvavata

(3) Samanyaodrsta (4) Both Purvavata and Samanyatodista

At T T B IR qE wETe e R orven T ST $B o AR g WA % a § RE TR
FAF SATEAG 2 7

() w9 2) TEaa
(3)  wHEdZ (4) Ydaq TF AdgE S

[Question ID = 4628][Question Description = Q27_GP_21H0OV_52 SHAAN_Shift2]
1. 1 [Option ID = 17975]
2. 2 [Option ID = 17976]
3. 3 [Option ID = 17977]
4. 4 [Option ID = 17978]

39} Under which of the following conditions an inference may be categorized as Kevalanvayi ?

(1) When it 1s based on middle term which is only positively related to the major term
(2) When it is based on middle term which i1s only negatively related to the major term

(3) When 1t 1s based on middle term which 1s both positively and negatively related to the
major term

(4) When middle term and major term have the relationship of identity (tadatmaya)
between them

froifira O O B ohiforfas # s = a5 B0 U Aviessa Seer o awan 27
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[Question ID = 4629][Question Description = Q28_GP_21NOV_52_SHAAN_Shift2]
. 1 [Option ID = 17979]
. 2 [Option ID = 17980]
. 3 [Option ID = 17981]
4 [Option ID = 17982]

b B

40) Tidal range (R) 1s a critical factor in determimng whether an estuary would be useful for
tidal power generation as energy (E) available per tidal cycle depends on scales with R as

according to the following relation :

(1) E«xR 2 E « R#

(3) E« R? (4 E o« R?

S foEd FoF g TARAegd SEr 3T s T, see Ruien 7 s few (W) oF 9 B
BT & FIE Otd SaR-—u3h St (E) 1 Suersaal FEfed F IER R Y S | e 2

1 E«R (2) E« r%

(3) Ex R® 4 Eo r®

[Question ID = 4630][Question Description = Q37_GP_21NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 17983]
2. 2 [Option ID = 17984]
3. 3 [Option ID = 17985]
4. 4 [Option ID = 17986)

Topic:- GP_Set4_C

1) Read the passage carefully and answer the question that follow:

How much time should you allot for group work? It depends on task complexity, but you must make some more refined
estimates as well. You need to determine the time to devote to group work and time to devote to all groups coming
together to share their contributions, This latter time may be used for group reports, a whole-class discussion, debriefing to
relate the work experiences of each group to the end product, or some combination of these tasks. Group work can easily
get out of hand in the excitement, controversy, and natural dialogue that can come from passionate discussion. This
possibility requires you to place limits on each stage of the cooperative learning activity, so one stage does not take time
from another and leave the task disjointed and incomplete in your learners’ minds. Most time naturally will be devoted to
the work of individual groups, during which the major portion of the end product will be completed. Individual group work
normally will consume 60% to 80% of the time devoted to the cooperative learning activity. The remaining time must be
divided among individual group presentations and/or whole class discussion and debriefing that places the group work into
the perspective of a single end product. If you plan both group reports and whole class discussion for the same day, be
aware that the discussion probably will get squeezed into a fraction of the time required to make it meaningful. To avoid
this, the group discussion or debriefing for the following class day may be so scheduled so that class members have ample
time to reflect on their group reports and to pull together their own thoughts about the colloborative process, which may or
may not have occured as intended. Providing 15 or 20 minutes at the begining of class the next day is usually enough time
for students to have acquired the proper distance to reflect meaningfully on their experiences of the day before-and to
learn from them.

What is the main determinant of time allocation in cooperative learning?

(1) Time devoted to group work (2) Time devoted to all groups
(3) Time devoted to presentation of reports  (4) Complexity and the number of tasks involved

Frenfera T = T, $1R By 7w yem % I i
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[Question ID = 4631][Question Description = Q46_GP_21H0OV_52 SHAAN_Shift2]
1. 1

[Option ID = 17987]
7,2

[Option ID = 17988]
3.3

[Option ID = 17989]
4, 4

[Option ID = 17990]

2) Read the passage carefully and answer the question that follow:

How much time should you allot for group work? It depends on task complexity, but you must make some more refined
estimates as well. You need to determine the time to devote to group work and time to devote to all groups coming
together to share their contributions. This latter time may be used for group reports, a whole-class discussion, debriefing to
relate the work experiences of each group to the end product, or some combination of these tasks. Group work can easily
get out of hand in the excitement, controversy, and natural dialogue that can come from passionate discussion, This
possibility requires you to place limits on each stage of the cooperative learning activity, so one stage does not take time
from another and leave the task disjointed and incomplete in your learners’ minds. Most time naturally will be devoted to
the work of individual groups, during which the major portion of the end product will be completed. Individual group work
normally will consume 60% to 80% of the time devoted to the cooperative learning activity. The remaining time must be
divided among individual group presentations and/or whole class discussion and debriefing that places the group work into
the perspective of a single end product. If you plan both group reports and whole class discussion for the same day, be
aware that the discussion probably will get squeezed into a fraction of the time required to make it meaningful. To avoid
this, the group discussion or debriefing for the following class day may be so scheduled so that class members have ample
time to reflect on their group reports and to pull together their own thoughts about the colloborative process, which may or
may not have occured as intended. Providing 15 or 20 minutes at the begining of class the next day is usually enough time
for students to have acquired the proper distance to reflect meaningfully on their experiences of the day before-and to
learn from them.

What can disrupt group work?

(1) Difficulty of task  (2) A whole class discussion
(3) Discussions which involve emotions  {4) Arguments on various points
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[Question ID = 4632][Question Description = Q47_GP_21NOV_52_SHAAN_Shift2]
s U5 |

[Option ID = 17991]
2. 2

[Option ID = 17992]
2

[Option ID = 17993]
4. 4

[Option ID = 17994]

3) Read the passage carefully and answer the question that follow:

How much time should you allot for group work? It depends on task complexity, but you must make some more refined
estimates as well. You need to determine the time to devote to group work and time to devote to all groups coming
together to share their contributions, This latter time may be used for group reports, a whole-class discussion, debriefing to
relate the work experiences of each group to the end product, or some combination of these tasks. Group work can easily
get out of hand in the excitement, controversy, and natural dialogue that can come from passionate discussion. This
possibility requires you to place limits on each stage of the cooperative learning activity, so one stage does not take time
from another and leave the task disjointed and incomplete in your learners’ minds. Most time naturally will be devoted to
the work of individual groups, during which the major portion of the end product will be completed. Individual group work
normally will consume 60% to 80% of the time devoted to the cooperative learning activity. The remaining time must be
divided among individual group presentations and/or whole class discussion and debriefing that places the group work into
the perspective of a single end product. If you plan both group reports and whole class discussion for the same day, be
aware that the discussion probably will get squeezed into a fraction of the time required to make it meaningful. To avoid
this, the group discussion or debriefing for the following class day may be so scheduled so that class members have ample
time to reflect on their group reports and to pull together their own thoughts about the colloborative process, which may or
may not have occured as intended. Providing 15 or 20 minutes at the begining of class the next day is usually enough time
for students to have acquired the proper distance to reflect meaningfully on their experiences of the day before-and to
learn from them.

A major chunk of time in cooperative learning is devoted to which of the following?

(1) Individual group presentation (2) Whole class discussion
(3) Individual group work  (4) Debriefing
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[Question ID = 4633][Question Description = Q48_GP_21NOV_52_SHAAN_Shift2]
1. 1

[Option ID = 17995]
7.2

[Option ID = 17996]
3.3

[Option ID = 17997]
4, 4

[Option ID = 17998]

4) Read the passage carefully and answer the question that follow:

How much time should you allot for group work? It depends on task complexity, but you must make some more refined
estimates as well. You need to determine the time to devote to group work and time to devote to all groups coming
together to share their contributions. This latter time may be used for group reports, a whole-class discussion, debriefing to
relate the work experiences of each group to the end product, or some combination of these tasks, Group work can easily
get out of hand in the excitement, controversy, and natural dialogue that can come from passionate discussion, This
possibility requires you to place limits on each stage of the cooperative learning activity, so one stage does not take time
from another and leave the task disjointed and incomplete in your learners’ minds. Most time naturally will be devoted to
the work of individual groups, during which the major portion of the end product will be completed. Individual group work
normally will consume 60% to 80% of the time devoted to the cooperative learning activity, The remaining time must be
divided among individual group presentations and/or whole class discussion and debriefing that places the group work into
the perspective of a single end product. If you plan both group reports and whole class discussion for the same day, be
aware that the discussion probably will get squeezed into a fraction of the time required to make it meaningful. To avoid
this, the group discussion or debriefing for the following class day may be so scheduled so that class members have ample
time to reflect on their group reports and to pull together their own thoughts about the colloborative process, which may or
may not have occured as intended. Providing 15 or 20 minutes at the begining of class the next day is usually enough time
for students to have acquired the proper distance to reflect meaningfully on their experiences of the day before-and to
learn from them.,

The members of cooperative learning team should be given enough time to

(1) reflect (2) discuss
(3) ask questions (4) present new ideas
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[Question ID = 4634][Question Description = Q49_GP_21NOV_52_SHAAN_Shift2]
1.1

[Option ID = 17999]
2. 2

[Option ID = 18000]
3.3

[Option ID = 18001]
4. 4

[Option ID = 18002]

5) Read the passage carefully and answer the question that follow:

How much time should you allot for group work? It depends on task complexity, but you must make some more refined
estimates as well, You need to determine the time to devote to group work and time to devote to all groups coming
together to share their contributions. This latter time may be used for group reports, a whole-class discussion, debriefing to
relate the work experiences of each group to the end product, or some combination of these tasks. Group work can easily
get out of hand in the excitement, controversy, and natural dialogue that can come from passionate discussion, This
possibility requires you to place limits on each stage of the cooperative learning activity, so one stage does not take time
from another and leave the task disjointed and incomplete in your learners’ minds, Most time naturally will be devoted to
the work of individual groups, during which the major portion of the end product will be completed. Individual group work
normally will consume 60% to 80% of the time devoted to the cooperative learning activity. The remaining time must be
divided among individual group presentations and/or whole class discussion and debriefing that places the group work into
the perspective of a single end product. If you plan both group reports and whole class discussion for the same day, be
aware that the discussion probably will get squeezed into a fraction of the time required to make it meaningful. To avoid
this, the group discussion or debriefing for the following class day may be so scheduled so that class members have ample
time to reflect on their group reports and to pull together their own thoughts about the colloborative process, which may or
may not have occured as intended. Providing 15 or 20 minutes at the begining of class the next day is usually enough time
for students to have acquired the proper distance to reflect meaningfully on their experiences of the day before-and to
learn from them.

The most appropriate caption for the passage will be :

(1) Guidelines for cooperative learning  (2) Procedure for cooperative learning
(3) Precaution in the conduct of cooperative learning (4) Limitations of cooperative learning
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[Question ID = 4635][Question Description = Q50_GP_21NOV_52_SHAAN_Shift2]
1. 1

[Option ID = 18003]
7.2

[Option 1D = 18004]
3.3

[Option ID = 18005]
4, 4

[Option ID = 18006]




